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B.Com. DEGREE EXAMINATION, APRIL 2024 

First Semester 

Commerce 

ADVANCED ACCOUNTANCY – I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. State the meaning of Ledger. 
 ÷£÷μk ö£õ¸øÍU TÖP. 

2. Give the meaning of Real Account. 
 ö\õzx PnUS ö£õ¸Ò u¸P. 

3. State the meaning of Errors of Omission. 
 Âk ¤øÇPÎß AºzuzøuU TÖP. 

4. In what ways may the errors be rectified? 
 ¤øÇPøÍ GÆÁÈPÎÀ v¸zu»õ®. 

5. Define the term Depreciation. 
 ÷u´©õÚ® GßÓ Áõºzøuø¯ Áøμ¯ÖUPÄ®. 

6. Give the meaning of Replacement of an Asset. 
 J¸ ö\õzøu ©õØÖuÀ £ØÔ ö£õ¸øÍU SÔ¨¤kP. 

7. Why are Final Accounts prepared? 
 CÖv PnUSPÒ Hß u¯õ›UP¨£kQßÓÚ? 
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8. What is Balance Sheet? 
 C¸¨¦{ø» SÔ¨¦ GßÓõÀ GßÚ? 

9. Mention the objectives of Account Current. 
 PnUS |h¨¤ß ÷|õUP[PøÍU SÔ¨¤kP. 

10. Bring the meaning of Daily Balance Sheet. 
 vÚ\› C¸¨¦{ø»U SÔ¨¤ß AºzuzøuU SÔ¨¤kP. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) State the Different between Journal and Ledger. 
  SÔ¨÷£miøÚ ÷£÷μmkhß ÷ÁÖ£kzxP. 

Or 

 (b) Journalize the following in the journal of Mr. Shiva. 
2022  
April 

  01  Received cash from Thiru Rs. 30,000 

  04  Paid cash to Raja Rs. 10,000 

  06  Bought goods for cash Rs. 25,000 

  10  Purchased from Ramu Rs. 50,000 

  15 Sold goods for cash Rs. 10,000 

  22  Sold goods on credit to Hari Rs. 5,000 
  v¸. ]Áõ HmiÀ SÔ¨÷£mk £vÄPÒ u¸P. 

  2022  
H¨μÀ 

  01  v¸Âh® ö£ØÓ öμõUP® ¹. 30,000 

  04  μõáõÄUS öμõUP® ö\¾zv¯x ¹. 10,000 

  06  öμõUP öPõÒ•uÀ ¹. 25,000 

  10  μõ•Âh® Phß öPõÒ•uÀ ¹. 50,000 

  15 öμõUP ÂØ£øÚ ¹. 10,000 

  22  í›US Phß ÂØ£øÚ ¹. 5,000 
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12. (a) Rectify the following Errors 

  (i) Purchases of Rs. 5,000 from Siva wrongly 
entered in the sales book. 

  (ii) Goods taken by the proprietor Rs. 2,000 not 
recorded in the books at all. 

  (iii) Salaries paid to Prabu Rs. 1,000 debited to his 
personal account. 

  (iv) Discount Rs. 150 allowed to Ramu has been 
credited to discount A/c. 

  (v) Credit sales to Ahamed Rs. 500 wrongly 
posted to the credit of his account. 

  ¤ßÁ¸® ¤øÇPøÍ \›UPmkP. 

  (i) ]Áõ Gß£Á›h® öPõÒ•uÀ ö\´¯¨£mh  

¹. 5,000 uÁÓõP ÂØ£øÚ HmiÀ £v¯¨£mhx. 

  (ii) E›ø©¯õÍμõÀ GkUP¨£mh \μUS ¹. 2,000 

G¢u Hmi¾® £v¯¨£hÂÀø». 

  (iii) ¤μ¦ Gß£Á¸US öPõkzu \®£Í® ¹. 1,000 
AÁ¸øh¯ BÒ\õº PnUQÀ £ØÖ 

øÁUP¨£mhx. 

  (iv) μõ• Gß£Á¸US AÎUP¨£mh uÒÐ£i  

¹. 150 uÒÐ£i PnUQÀ ÁμÄ øÁUP¨£mhx. 

  (v) AP©xØS ÂØÓ Phß ÂØ£øÚ ¹. 500 
uÁÖu»õP AÁ¸øh¯ PnUQÀ ÁμÄ 

øÁUP¨£mhx. 

Or 

 (b) Coin out any four reasons for preparation of Bank 
Reconciliation Statement. 

  Á[Q \›Pmk® £mi¯ø» u¯õ›¨£uØPõÚ H÷uÝ® 
|õßS Põμn[PøÍ TÖP. 
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13. (a) A firm purchased a plant on 1.1.2020 for Rs. 90,000 

and spent Rs. 5,000 as erection charges. Calculate 

the amount of depreciation for the year 2020 @ 15% 

per annum under the written down value method. 

Accounts are closed on 31st March every year. 

  1.1.2020 AßÖ J¸ {ÖÁÚ® ¹. 90,000 ©v¨¦ÒÍ 

C¯¢vμ® JßøÓ Áõ[Q¯x. {ÖÄøPa ö\»ÁõP  

¹. 5,000 ö\»ÁÈzux. SøÓ¢x ö\À ©v¨¦ 

•øÓ°À BskUS ÷u´©õÚ® 15% GßÓ ÂQuzvÀ 

2020B® BskUS ÷u´©õÚz öuõøPø¯ 

PnUQhÄ® PnUSPÒ ©õºa 31À •iUP¨ö£ØÓÚ. 

Or 

 (b) Calculate the amount of depreciation and rate of 

depreciation under straight line method. 

  Purchase price of machine Rs. 20,00,000 

  Expenses to be capitalised Rs. 5,00,000 

  Estimated residual value Rs. 1,50,000 

  Expected useful life  10 years 

  ÷|ºU÷Põmk •øÓ°À ÷u´©õÚz öuõøP ©ØÖ® 

÷u´©õÚ ÂQu® PõsP. 

  C¯¢vμ® Áõ[Q¯ Âø»  ¹. 20,00,000 

  ‰»uÚ©õUP¨£h ÷Ási¯ ö\»ÄPÒ ¹. 5,00,000 

  Gvº÷|õUS® CÖv ©v¨¦  ¹. 1,50,000 

  Gvº÷|õUS® £¯ÚÎ¨¦ Põ»®  10 Á¸h[PÒ 



S–2171 

  

  5

14. (a) Distinguish between Trading and Profit and Loss 
Account. 

  Â¯õ£õμ ©ØÖ® C»õ£ |mh PnUQØS® EÒÍ 
÷ÁÖ£õkPÒ. 

Or 

 (b) Calculate the income on subscriptions for the year 
ending 31-March-2022, from the following 
information. 

 01-April-2020 31-March-2022

Subscription outstanding 1,700 1,000

Subscription received in advance 1,600 800

Subscriptions received during  
the year 2020-21 10,000

  ¤ßÁ¸® uPÁ¼ß Ai¨£øh°À 31.03.2018 
BsiØPõÚ \¢uõUPÎß Á¸©õÚzøuU PnUQkP. 

 01-H¨μÀ-2020 31-©õºa-2022

{¾øÁ°À EÒÍ \¢uõUPÒ 1,700 1,000

•ßTmi÷¯ ö£Ó¨£mh \¢uõUPÒ 1,600 800

2020-21 CÀ ö£Ó¨£mh \¢uõUPÒ 10,000

15. (a) Nirmal has purchased goods, the due date of which 
is as follows: 

  (i) Rs. 500 due 5th July 2019 

  (ii) Rs. 850 due 10th August 2019 

  (iii) Rs. 350 due 25th September 2019 

  (iv) Rs. 650 due 10th November 2019 

   Nirmal desires to give a promissory note for 
the total amount due, such being payable on 
average due date. Ascertain that date. 
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  {º©À Gß£Áº ¤ßÁ¸® •vºÄ |õmPÎÀ 
öPõÒ•uÀ ö\´QÓõº. 

  (i) áüø» 5, 2019 •vºÂÀ ¹. 500  

  (ii) BPìm 10, 2019 •vºÂÀ ¹. 850  

  (iii) ö\¨h®£º 25, 2019 •vºÂÀ ¹. 350 

  (iv) |Á®£º 10, 2019 •vºÂÀ ¹. 650 

   {º©À Gß£Áº AøÚzx öuõøPø¯²® \μõ\› 
uÁøn |õÎÀ EÖva ^mk ‰»® ö\¾zx©õÖ 
•iÄ ö\´uõº. Az÷uvø¯ PnUQkP. 

Or 

 (b) Step out the procedure for preparing of Trading and 
Profit and loss A/c of a sole trade concern. 

  uÛ|£º {ÖÁÚzvß ÁºzuP, C»õ£|mhU PnUQøÚ 
u¯õ›¨£uØPõÚ ÁÈ•øÓPøÍ TÖP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Prepare Trial Balance as on 31st March 2022 from the 
following balances of Mrs. Lakshmi. 

 Rs.  Rs. 

Capital 30,000 Salaries 5,000

Drawings 15,000 Rent 2,000

Purchases 90,000 Taxes 300

Sales 1,30,000 Insurance 600

Return inwards 700 Sundry Debtors 8,000

Return outwards 900 Sundry Creditors 6,000

Carriage inwards 1,100 Cash in Hand 500

Carriage outwards 800 Cash at Bank 2,500

Duty on Purchases 2,000 Furniture 1,000

Stock on 01.04.2021 11,000 Land 20,400

Motor van 6,000  
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 v¸©v. »ôª°ß RÌPsh {¾øÁ°À C¸¢x 31 ©õºa 

2022 AßÖ C¸¨£õ´Ä PnUS u¯õº ö\´P. 

   

 ¹.  ¹. 

•uÀ 30,000 \®£Í® 5,000

Gk¨¦ 15,000 ÁõhøP 2,000

öPõÒ•uÀ 90,000 Á› 300

ÂØ£øÚ 1,30,000 Põ¨¥k 600

ÂØ£øÚ v¸¨£® 700 £Ø£» PhÚõÎPÒ 8,000

öPõÒ•uÀ v¸¨£® 900 £Ø£» PhÜ¢÷uõº 6,000

EÒyUS T¼ 1,100 øP°¸¨¦ öμõUP® 500

öÁÎzyUSU T¼ 800 Á[Q°¸¨¦ 2,500

öPõÒ•uÀ «uõÚ Á› 2,000 ©μa\õ©õßPÒ 1,000

C¸¨¦ 01.04.2021 11,000 {»® 20,400

÷©õmhõº ÷Áß 6,000  

17. Correct the following errors found in the books of  
Mr. Harichandran. The Trial balance was out by Rs. 986, 
excess credit. Prepare the difference amount has been 
posted to a suspense account. 

 (a) A sales of Rs. 400 to Bobby & Co, was wrongly 
credited to their account. 

 (b) A Purchases of Rs. 134 had been posted to the 
creditor’s account as Rs. 120  

 (c)  The total returns inward book for December had 
been cast Rs. 200 short. 

 (d) A cheque for Rs. 400 received from Sandhya had 
been dishonoured and was posted to the debit of 
Allowance Account. 
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 v¸. í›a\¢vμß Gß£Áº PnUQÀ C¸¢x uÁÓõÚ 
£vÄPÒ Psk¤iUP¨£mk Cuß ‰»® C¸¨¦ ÷\õuøÚ 

£mi¯¼À ¹. 986 AvP©õP PnUQÀ ÁμÄ 
øÁUP¨£mkÒÍx. AvP©õÚ öuõøPø¯ Gkzx 
AÚõ©zx PnUS u¯õº ö\´P. 

 (A) ÂØÓx ¹. 400 £õ¤ PnUQ¼¸¢x uÁÓu»õP AÁμx 
PnUQÀ ÁμÄ øÁUP¨£mhx. 

 (B) öPõÒ•uÀ PnUS ¹. 134 uÁÖu»õP PhÜ¢÷uõº 

PnUQÀ ¹. 120 Gkzx GÊu¨£mhx. 

 (C) i\®£º ©õu ö©õzu EÒ v¸¨£ PnUQÀ ¹. 200 
SøÓÁõP EÒÍx. 

 (D) \¢v¯õ PnUQÀ C¸¢x ¹. 400UPõÚ Põ÷\õø» 
ö£Ó¨£mk Ax uÒÐ£i ö\´¯¨£mk 
AÝ©vUP¨£mh PnUQÀ £ØÖ øÁUP¨£mhx. 

18. N & N company purchased a second hand plant for  
Rs. 30,000. It immediately spent on it Rs. 5,000. The 
plant was put to use on 01.01.2010. After having used it 
for six years, it was sold for Rs. 15,000. You are required 
to prepare the plant A/c for 6 years, providing 
depreciation @ 10% on original cost. 

 N & N {Ö©® HØPÚ÷Á £¯ß£kzu¨£mh Cμshõ® uμ 

C¯¢vμzøu ¹. 30,000zvØS öPõÒ•uÀ ö\´ux, A¢u 

C¯¢vμzvØS ¹. 5,000 EhÚi¯õP ö\»Âh¨£mhx.  

A¢u C¯¢vμ®  01.01.2010 •uÀ £¯ß£õmiØS 

öPõskÁμ¨£mhx. öuõh¢x 6 BskPÒ 

£¯ß£kzu¨£mh ¤ß A¢u C¯¢vμ® ¹. 15,000zvØS 

ÂØ£øÚ ö\´¯¨£mhx. BskUS 10% ÷|º÷Põmk 
•øÓ°À ÷u´©õÚ® HØ£kzv A¢u C¯¢vμU PnUQøÚ 

6 BskPÐUS u¯õº ö\´P. 
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19. From the following details, prepare final accounts for the 
year ended 31-3-2021. 

Debit  Rs. Credit Rs. 

Salaries 5,500 Creditors 10,000

Rent 1,300 Sales 32,000

Cash 1,000 Capital 30,000

Debtors 40,000 Loans 9,500

Sundry expenses 600  

Purchases 25,000  

Buildings 2,500  

Bank balance 5,600  

Total 81,500 Total 81,500

 Adjustments: 

 (a) Closing stock Rs. 9,000 

 (b) Rent paid to advance Rs. 100 

 (c) Salary outstanding amounted to Rs. 1,100 

 (d) Provide 5% for doubtful debt against debtors. 

 RÌPõq® Â£μ[PøÍU öPõsk 31.3.2021 ÷uvUS›¯ 
CÖvU PnUQøÚ u¯õº ö\´P. 

£ØÖ ¹. ÁμÄ ¹. 

\®£Í® 5,500 PhÜ¢÷uõº 10,000
ÁõhøP 1,300 ÂØ£øÚ 32,000
öμõUP® 1,000 •uÀ 30,000
PhÚõÎPÒ 40,000 Phß 9,500
£Ø£»a ö\»ÄPÒ 600  
öPõÒ•uÀ 25,000  
Pmih® 2,500  
Á[Q°¸¨¦ 5,600  

ö©õzu® 81,500 ö©õzu® 81,500
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 \›PmkuÀPÒ: 

 (A) CÖv \μUQ¸¨¦ ¹. 9,000 

 (B) •ßTmi ö\¾zv¯ ÁõhøP ¹. 100 

 (C) öPõk£h ÷Ási¯ \®£Í® ¹. 1,100 

 (D) I¯¨£õmk Phß PhÚõÎPÒ «x 5% HØ£kzxP. 

20. On 1st October 2017 X owes Y Rs. 20,000 

 On 1st December, 2017 X pays cash Rs. 6,000 

 On 1st January, 2018 X purchases goods from Y  
Rs. 12,000 

 On 1st February, 2018 X pays cash Rs. 18,000 

 Prepare account current rendered by Y to X for the half 
year ending of 31st March 2018. 

 Calculate interest at 10% p.a. 

 AU÷hõ£º 1, 2017À X Gß£Áº Y US uμ÷Ási¯ öuõøP 
¹. 20,000 

 i\®£º 1, 2017À X öPõkzu öμõUP® ¹. 6,000 

 áÚÁ› 1, 2018À X, Y°h® ö\´u öPõÒ•uÀ ¹. 12,000 

 ¤¨μÁ› 1, 2018 X öPõkzu öμõUP® ¹. 18,000 

 31.3.2018® |õ÷Íõk •iÁøh²® Aøμ BsiØS 10% 
Bsk Ámi öPõsk, PnUQmk. 

 Y Gß£Áº X Gß£Á¸US AÎUS® |øh•øÓU PnUøPz 
u¯õ›UPÄ®. 

 

  
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2024 

First Semester 

Commerce 

BUSINESS ORGANISATION 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. List out the divisions of business. 

 ÁoPzvß ¤›ÄPøÍ £mi¯¼kP. 

2. What is meant by Trade? 

 ÁºzuP® GßÓõÀ GßÚ? 

3. What is ‘Partnership’? 

 ‘Tmhõsø©’ GßÓõÀ GßÚ?  

4. What does Joint Stock Company mean? 

 ‘TmkÓÄ \[P®’ GßÓõÀ GßÚ?  

5. List out any two evils of big business. 

 ÷£μÍÄ ÁoPzvß H÷uÝ® Cμsk SøÓ£õkPøÍ 
£mi¯¼kP. 

6. Who is the representative of an organisation? 

 J¸ {ÖÁÚ Aø©¨¤ß ¤μv{v ¯õº? 
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7. What are the two types of shareholders? 

 Cμsk ÁøP¯õÚ £[SuõμºPÒ ¯õº? 

8. State any two problems in company management. 

 {Ö© ÷©»õsø©°À EÒÍ H÷uÝ® Cμsk ]UPÀPøÍa 
_miUPõmkP. 

9. What is Industrial Policy? 

 öuõÈÀ öPõÒøP GßÓõÀ GßÚ? 

10. What does pricing policy mean in business? 

 ÁoPzvÀ Âø»U öPõÒøP GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. 

11. (a) State the nature of business. 

  ÁoPzvß ußø©ø¯U SÔ¨¤kP. 

Or 

 (b) Specify the requisites for success in modern 
business. 

  |ÃÚ ÁoPzvß öÁØÔUS ÷uøÁ¯õÚ Ai¨£øh 
TÖPøÍ SÔ¨¤kP. 

12. (a) State the forms of ownership of business Firms. 

  ÁoP {ÖÁÚ[PÎß £À÷ÁÖ Aø©¨¦PøÍ 
_miUPõmkP. 

Or 

 (b) List out the merits and demerits of partnership. 

  Tmhõsø©°ß |ßø© wø©PøÍ £mi¯¼kP. 
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13. (a) Mention the criteria for measurement of business 
size of the firms. 

  {ÖÁÚ[PÎß ÁoP AÍøÁ AÍÂkÁuØPõÚ 
AÍÄ÷PõÀPøÍU SÔ¨¤kP. 

Or 

 (b) Narrate the reasons for survival of small units. 

  ]Ö ÁoP {ÖÁÚ[PÒ {ø»zv¸¨£uØPõÚ 
Põμn[PøÍ ÂÁ›. 

14. (a) Bring out the causes and reasons for oligarchy. 

  ußÚ»USÊÂØPõÚU Põμn[PøÍa _miUPõmkP. 

Or 

 (b) State the Powers of shareholders under Companies 
Act. 

  {ÖÁÚ \mhzvß RÌ £[SuõμºPÎß AvPõμ[PøÍU 
SÔ¨¤kP. 

15.  (a) Describe the problems of public enterprises faced by 
the administration. 

  ö£õxzxøÓ {ÖÁÚ[PøÍ {ºÁQ¨£vÀ EÒÍ 
]UPÀPøÍ ÂÁ›UP. 

Or 

 (b) Briefly explain the industrial policy in India. 

  C¢v¯õÂß öuõÈÀ öPõÒøPø¯ _¸UP©õP 
ÂÍUSP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly explain the objectives of the business. 

 ÁoPzvß ÷|õUP[PøÍ _¸UP©õP ÂÍUSP. 
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17. Distinguish between company and co-operation society. 

 {Ö©® ©ØÖ® TmkÓÄ \[Pzvß ÷ÁÖ£õkPøÍ ÂÁ›. 

18. Explain the factors influencing the optimal size of a firm. 

 J¸ {ÖÁÚzvß EP¢u AÍøÁ £õvUS® PõμoPøÍ 
ÂÍUSP. 

19. Enumerate the duties of the managing director of a 
company. 

 J¸ {ÖÁÚzvß {ºÁõP C¯USÚ›ß Phø©PøÍ 
£mi¯¼kP. 

20. Bring out the characteristics of public utilities. 

 ö£õx¨£¯ß {ÖÁÚ[PÎß ]Ó¨¦ A®\[PøÍ¨ 
£mi¯¼kP. 

 
 

———————— 
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U.G. DEGREE EXAMINATION, APRIL 2024 

Commerce 

Allied — FINANCIAL ACCOUNTING — I 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Give the meaning of journal. 

 SÔ¨÷£k GßÓõÀ GßÚ? 

2. What is trial balance? 

 C¸¨£õ´Ä GßÓõÀ GßÚ? 

3. What do you mean by subsidiary books? 

 xøn HkPÒ GßÓõÀ GßÚ? 

4. What is cash book? 

 öμõUP Hk GßÓõÀ GßÚ? 

5. What is overdraft? 

 ÷©ÀÁøμ £ØÖ GßÓõÀ GßÚ? 

6. What is Bank Reconciliation statement? 

 Á[Q \›Pmk® £mi¯À GßÓõÀ GßÚ? 

7. What is Error of omission? 

 Âk ¤øÇ GßÓõÀ GßÚ? 
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8. What is compensating error? 

 Dk ¤øÇ GßÓõÀ GßÚ? 

9. What is trading account? 

 Â¯õ£õμ PnUS GßÓõÀ GßÚ? 

10. What is an outstanding expense? 

 öPõk£h÷Ási¯ ö\»ÄPÒ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the scope of accounting.  

  PnUQ¯¼ß ÷|õUPzøu ÂÍUSP. 

Or 

 (b) Journalise the following transactions. 
1987   

April 1 Commenced business with Rs. 50,000 

 3 Purchased goods for cash Rs. 10,000 at 
5% trade discount 

 4 Paid carriage Rs. 50 

 8 Purchased machinery for Rs. 20,000 

 10 Sold goods to Madan on account for 
Rs. 15,000 

  ¤ßÁ¸® |hÁiUøPPÐUS SÔ¨÷£mk £vÄ u¸P. 

1987   
H¨μÀ  1 öμõUPzxhß öuõÈÀ öuõh[Q¯x 

50,000 

 3 5% Â¯õ£õμ uÒÐ£i°À ¹. 10,000 
öμõUPzvØS Áõ[P¨£mh \μUS  

 4 yUS T¼ ¹. 50 

 8 C¯¢vμ[PÒ ¹. 20,000US Áõ[Q¯x 

 10 ©uÝUS ¹. 15,000US \μUS ÂØÓx 
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12. (a) Record the following transactions for the month of 
January 1999 in the purchases book of M/S. Narain 
Electronics. 

Jan  4 Purchased from M/S Brown  

 Electronics : 

    20 Black & White T.Vs @ Rs. 5,200 per 

piece 

    10 Colour T.Vs @ Rs. 12,000 per piece 

    Trade discount on all items @ 12% 

  Jan  10 Purchased from M/S Mani Electronics : 

    12 Video tapes @ Rs. 600 per piece. 

    8 Philips tape recorders @ Rs. 2,500 per 

piece. 

  Jan 19 Purchased from M/S Sehgal Electronics : 

    10 LG Stereos @ Rs. 3,500 per piece 

    8 LG Colour T.Vs @ Rs. 25,000 per piece. 

    Trade discount @ 5%  

  Jan 24  Purchased from M/S. Gupta Electronics : 

    200 Audio Cassettes @ Rs. 25 per piece. 

    30 Equity toasters @ Rs. 500 per piece. 

    Also show posting of the above 

transactions into ledger accounts from 

purchases book. 
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  M/S |÷μß Gö»UmμõÛUì öPõÒ•uÀ ¦zuP[PÎÀ 
áÚÁ› 1999UPõÚ ¤ßÁ¸® £›ÁºzuøÚPøÍ¨ 
£vÄ ö\´¯Ä®. 

áÚÁ› 4 G®/Gì ¤μÄß G»UmμõÛUì ‰»® 
 Áõ[Q¯x   

    20 P¸¨¦ ©ØÖ® öÁÒøÍ öuõø»UPõm] 
¹. 5,200 Ãu® 

    10 Ásn öuõø»UPõm] ¹. 12,000 Ãu® 

    AøÚzx ö£õ¸mPÐUS® ÁºzuP 
uÒÐ£i @ 12% 

  áÚÁ› 10 G®/Gì ©o G»UmμõÛUì 
{ÖÁÚzvhª¸¢x Áõ[P¨£mhx. 

    12 Ãi÷¯õ ÷h¨PÒ JßÖ ¹. 600 Ãu®  

    8 ¤¼¨ì ÷h¨ öμUPõºhºPÒ JßÖ  
¹. 2,500 Ãu® 

  áÚÁ› 19 M/s ÷\PÀ G»UmμõÛUì {ÖÁÚzvhª¸¢x 
Áõ[SuÀ : 

    10 GÀâ ìj›÷¯õUPÒ JßÖ ¹. 3,500 
Ãu® 

    8 GÀâ Ásn öuõø»UPõm] JßÖ  
¹.  25,000 Ãu® 

    ÁºzuP uÒÐ£i @ 5%  

  áÚÁ› 24  G®/Gì S¨uõ G»UmμõÛUì 
{ÖÁÚzvhª¸¢x Áõ[SuÀ 

    200 Bi÷¯õ ÷P\mkPÒ JßÖ ¹.25 Ãu® 

    30 DUÂmi ÷hõìhºPÒ JßÖ ¹. 500 
Ãu®. 

    öPõÒ•uÀ ¦zuPzv¼¸¢x ÷£÷μmk 
PnUSPÎÀ ÷©÷» öPõkUP¨£mh 
£›ÁºzuøÚø¯ £vÄ ö\´¯Ä®. 

Or 
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 (b) Enter the following transactions in the Sales Book 
of M/S Saranraj & Sons and post them in to ledger : 

1999  

May 2 Sold to M/s Ragul & Bros : 

 200 pieces long cloth at Rs. 90 per piece 

 300 pieces shirting @ Rs. 110 per piece 

May 5 Sold to M/s Gupta & Verma : 

 20 pieces coating @ Rs. 250 per piece 

May 16 Sold to M/s Mathur & Jain : 

 250 blankets @ Rs. 50 each 

 120 blankets @ Rs. 75 each 

May 20 Sold 20 shirts to cheap stores @ Rs. 30 each for
cash   

May 25 Sold old furniture to M/s Santosh & Co. on 
credit Rs. 800 

  It is the practice followed by M/s. Saran Raj & sons 
to allow 10% trade discount on all sales. 

  M/S \μsμõä Cß ÂØ£øÚ¨ ¦zuPzvÀ ¤ßÁ¸® 
|hÁiUøPPøÍ £vÄ ö\´¯Ä®. 

1999  

÷© 2 μõSÀ ¤μuºìUS ÂØP¨£mhx : 

 200 xskUS }Í©õÚ xo J¸ xskUS  

¹. 90  

 300 xskPÒ \møh @ J¸ xskUS ¹. 110  

÷© 5 M/s S¨uõ & Áº©õÄUS ÂØP¨£mhx : 

 20 xskPÒ §a_ @ J¸ xskUS ¹. 250  
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÷© 16 M/s ©õzyº ©ØÖ® öá°ßUS ÂØP¨£mhx : 

 250 ÷£õºøÁPÒ JßÖ ¹. 50US 

 120 ÷£õºøÁPÒ JßÖ ¹. 75US  

÷© 20 20 \møhPøÍ Âø» SøÓ¢u PøhPÎÀ 
JÆöÁõßÖ® ¹. 30 öμõUP©õP ÂØÓx  

÷© 25 £øÇ¯ AøÓP»ß M/s \¢÷uõè & ÷Põ.ÂØS 

ÂØÓx ¹. 800 

  M/s \μsμõä & \ßì ¤ß£ØÖ® |øh•øÓ 10% 
Â¯õ£õμ uÒÐ£i ußÝøh¯ AøÚzx 
ÂØ£øÚ°¾® ÁÇ[SQßÓÚº. 

13. (a) The bank overdraft of Rajini on 31.12.93 as per cash 
book in Rs. 9,000. From the following particulars, 
prepare bank reconciliation statement: 

 Rs. 

  Unpresented cheque  3,000 

  Uncleared cheque   1,700 

  Bank interest debited in the pass book only 500 

  Bill collected and credited in the pass book only 800 

  Cheque of Renu dishonoured 500 

  Cheque issued to Sekar entered in the  300 
cash column of cash book  

  öμõUP¨ ¦zuPzvß £i 31.12.93 AßÖ μâÛ°ß 
Á[Q ÷©ÀÁøμ £ØÖ ¹. 9,000. ¤ßÁ¸® 
ÂÁμ[PÎ¼¸¢x, Á[Q \›Pmk® £mi¯ø» 
u¯õ›UPÄ®.  

 ¹. 

  ÁÇ[P¨£hõu Põ÷\õø»  3,000 

  öuÎÁØÓ Põ÷\õø»  1,700 
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    ¹.  

  ö\À HmiÀ ©mk÷© Á[Q Ámi £ØÖ   
  øÁUP¨£mhx   500 

  ö\ÀHmiÀ ©mk® ÷\P›UP¨£mk ÁμÄ   
øÁUP¨£mh Põ÷\õø»  800 

  ÷μqÂß Põ÷\õø» ©v¨¤Ç¢ux 500 

  ÷\P¸US ÁÇ[P¨£mh Põ÷\õø» öμõUP  300 

  Hmiß öμõUP £zv°À ©mk® £vÄ   

  ö\´¯¨£mhx    

Or 

 (b) Explain the various reasons for preparing Bank 
Reconciliation Statement. 

  Á[Q \›Pmk® £mi¯ø» u¯õ›¨£uØPõÚ £À÷ÁÖ 
Põμn[PøÍ ÂÍUS[PÒ. 

14. (a) Rectify the following errors. 

  (i) Purchase book is carried forward Rs. 350 less. 

  (ii) Sales book total is carried forward Rs. 500 
more. 

  (iii) A total of Rs. 758 in the purchase book has 
been carried forward as Rs. 857. 

  (iv) The total of the sales book Rs. 755 on page  
20 was carried forward to page 21 as Rs. 557. 

  (v) Purchase returns book was carried forward as 
Rs. 1,520 instead of Rs. 5,120. 

  ¤ßÁ¸® ¤øÇPøÍ v¸zuÄ® : 

  (i) öPõÒ•uÀ HmiÀ ¹. 350 SøÓÁõP Gkzx 
GÊu¨£mkÒÍx 

  (ii) ÂØ£øÚ HmiÀ ¹. 500 AvP©õP Gkzx 
GÊu¨£mkÒÍx 
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  (iii) öPõÒ•uÀ ¦zuPzvÀ ö©õzu® ¹. 758, ¹. 857 
GÚ •ß÷ÚõUQ GÊu¨£mkÒÍx.  

  (iv) £UP® 20 CÀ EÒÍ ö©õzu ÂØ£øÚ ¦zuP® 
¹. 755 £UP® 21 US ¹. 557 BP öPõsk 
ö\À»¨£mhx. 

  (v) öPõÒ•uÀ v¸¨£ ¦zuP® ¹.  5,120US £v»õP 
¹. 1,520 BP •ß÷ÚõUQ öPõsk 
ö\À»¨£mhx.  

Or 

 (b) What is Suspense Account? Why is it open? How it 
is finally closed? 

  AÚõ©zx PnUS GßÓõÀ GßÚ? Hß Ax 
öuõh[P¨£kQÓx? Ax G¨£i CÖv¯õP 
•iUP¨£kQÓx? 

15.  (a) Prepare Trading Account of Mr. Lal for the year 
ending 31.12.2022 from the following information : 

  Opening Stock    Rs. 1,00,000 

  Purchases         Rs. 1,50,000 

  Purchase Returns   Rs. 25,000 

  Direct Expenses     Rs. 10,000 

  Carriage inwards    Rs. 5,000 

  Sales             Rs. 4,00,000 

  Closing Stock      Rs. 50,000 

  v¸. »õÀ AÁºPÎß 31.12.22 •iÁøh²® 
BsiØPõÚ Â¯õ£õμU PnUøP ¤ßÁ¸® 
ÂÁμ[PÎß Ai¨£øh°À u¯õ›UPÄ®. 

öuõhUP \μUQ¸¨¦  ¹. 1,00,000 

  öPõÒ•uÀ         ¹. 1,50,000 

  öPõÒ•uÀ v¸¨£® ¹. 25,000 

  ÷|μi ö\»ÄPÒ     ¹. 10,000 



S–2173 

  

  9

  EÒyUS T¼     ¹. 5,000 

  ÂØ£øÚ             ¹. 4,00,000 

  CÖv \μUQ¸¨¦      ¹. 50,000 

Or 

 (b) Describe the procedure for preparation of Final 
Accounts of a sole trader step by step. 

  J¸ uÛ ÁºzuP›ß CÖvU PnUSPøÍz 
u¯õ›¨£uØPõÚ |øh•øÓø¯ £i¨£i¯õP 
ÂÁ›UPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. The following balances were extracted from the ledger of 
Ramakrishna Engineering Works on 31st March 1997. 
You are required to prepare a Trial Balance as on that 
date in proper form. 

 Rs.  Rs. 

Drawings 6,000 Sales  1,28,000

Capital 24,000 Salaries 9,500

Sundry creditors 43,000 Sales returns 1,000

Bills payable 4,000 Purchase returns 1,100

Sundry debtors 50,000 Travelling 
expenses 

4,600

Bills receivable 5,200 Commission paid 100

Loan from Karthik 10,000 Trading expenses 2,500

Furniture  4,500 Discount earned 4,000

Opening stock 47,000 Rent 2,000

Cash in hand 900 Bank overdraft 6,000

Cash at bank 12,500 Purchase 70,800

Tax 3,500  
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 31 ©õºa 1997 AßÖ  μõ©Q¸ènõ CßâÛ¯›[ 
£oPÎß ÷£÷μk C¸¢x ¤ßÁ¸® C¸¨¦PÒ 
¤›zöukUP¨£mhÚ. A¢u ÷uv°À }[PÒ \›¯õÚ 
ÁiÁzvÀ C¸¨£õ´Ä u¯õº ö\´P. 

 ¹.  ¹. 

Gk¨¦PÒ 6,000 ÂØ£øÚ 1,28,000

‰»uÚ® 24,000 \®£Í® 9,500

£Ø£» PhÜ¢÷uõº 43,000 ÂØ£øÚ v¸¨£® 1,000

ö\¾zxuØS›¯ 
©õØÖ ^mk  

4,000 öPõÒ•uÀ v¸¨£® 1,100

£Ø£» PhÚõÎPÒ  50,000 £¯n ö\»ÄPÒ 4,600

ö£ÖuØS›¯ ©õØÖ 
^mk  

5,200 PÈÄ ö\¾zv¯x  100

PõºzvUQh® C¸¢x 
Phß ö£ØÓx 

10,000 Â¯õ£õμ ö\»ÄPÒ 2,500

AøÓUP»ß 4,500 uÒÐ£i ö£ØÓx  4,000

öuõhUP \μUQ¸¨¦ 47,000 ÁõhøP 2,000

Á[Q C¸¨¦ 
öμõUP® 

900 Á[Q ÷©ÀÁøμ 
£ØÖ  

6,000

øPC¸¨¦ öμõUP® 12,500 öPõÒ•uÀ 70,800

Á› 3,500  

17. What is petty cash book? What are its advantages and 
Disadvantages? 

 ]À»øμ öμõUP Hk GßÓõÀ GßÚ? Auß |ßø©PÒ 
©ØÖ® wø©PÒ GßÚ? 

18. Difference between cash book and pass book. 

 öμõUP Hk ©ØÖ® ö\À÷»k EÒÍ ÷ÁÖ£õk ¯õx? 
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19. The difference of Trial Balance of a trader Rs. 1,118 has 
been transferred as suspense account. Later on the 
following errors were discovered. Pass the necessary 
rectifying entries. Open suspense account and show the 
effect of rectifying entries on profit or loss. 

 (a) Depreciation of Rs.200 was charged on machinery 
but it was not recorded in depreciation account. 

 (b) A discount of Rs. 82 was allowed to Rajesh, but in 
his account only Rs. 28 was recorded. 

 (c) A sales of Rs. 344 was recorded in sales account as 
Rs. 434. 

 (d) A machinery of Rs. 4,000 was purchased, but was 
recorded in purchases book. 

 (e) Instead of crediting Rs. 1,024 in Madan’s account 
Rs. 430 were debited in his account. 

 (f) Total of sales returns book was under cast by  
Rs. 100. 

 J¸ ÁºzuP›ß C¸¨£õ´Ä Âzv¯õ\® ¹. 1,118 
AÚõ©zx PnUPõP ©õØÓ¨£mhx. ¤ßÚº ¤ßÁ¸® 
¤øÇPÒ PshÔ¯¨£mhÚ. ÷uøÁ¯õÚ ¤øÇ v¸zu® 
ö\´¯Ä® ÷©¾® AÚõ©zx PnUøPz öuõh[Q C»õ£® 
AÀ»x |èhzvÀ v¸zu £vÄPøÍ \› ö\´ÁuõÀ 
HØ£k® ÂøÍÄPøÍ PõmkP. 

 (A) C¯¢vμ[PÎÀ ¹. 200 ÷u´©õÚ® Á`¼UP¨£mhx. 
BÚõÀ Ax ÷u´©õÚU PnUQÀ £vÄ 
ö\´¯¨£hÂÀø». 

 (B) μõ÷áåûUS ¹. 82 uÒÐ£i AÝ©vUP¨£mhx. 
BÚõÀ AÁμx PnUQÀ ¹. 28 ©mk÷© £vÄ 
ö\´¯¨£mhx. 

 (C) ¹. 344 ÂØ£øÚ¯õÚx ¹. 434 GÚ ÂØ£øÚU 
PnUQÀ £vÄ ö\´¯¨£mhx. 

 (D) ¹. 4,000US J¸ C¯¢vμ® Áõ[P¨£mhx. BÚõÀ 
öPõÒ•uÀ ¦zuPzvÀ £vÄ ö\´¯¨£mhx.   

 (E) ©uÛß PnUQÀ ¹. 1,024 ÁμÄUS¨ £v»õP ¹. 430 
AÁμx PnUQÀ £ØÖ ö\´¯¨£mhx. 

 (F) ö©õzu ÂØ£øÚ v¸¨£ Hk ¹. 100 SøÓÁõP 
©v¨¤h¨£mhx. 
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20. Prepare Trading, Profit & Loss A/c and Balance Sheet 
from the following Trial balance of Mr. M. Madan 

  Rs.   Rs.

Sundry Debtors 92,000 Madan’s Capital 70,000

Plant and Machinery 20,000 Purchase Returns 2,600

Interest 430 Sales 2,50,000

Rent, rates, taxes  
and insurance 

5,600 Sundry Creditors 60,000

Conveyance charges 1,320 Bank Overdraft 20,000

Wages 7,000    

Sales returns 5400    

Purchases 1,50,000    

Opening Stock 60,000    

Madan’s Drawings 22,000    

Trade expenses 1,350    

Salaries 11,200  

Advertising 840  

Discount 600    

Bad debts 800    

Business Premises 12,000    

Furniture and Fixtures 10,000    

Cash in hand 2,060    

 4,02,600   4,02,600

 Adjustments: 

 (a) Stock on hand 31.12.96 Rs. 90,000 

 (b) Provide depreciation on premises at 2.5%;  
Plant & Machinery @ 7.5% and Furniture and 
Fixtures at 10% 

 (c) Write off Rs. 800 as further bad debts 
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 (d) Provide for doubtful debts at 5% on sundry debtors 

 (e) Outstanding Rent Rs. 500 and outstanding wages 
Rs. 400 

 (f) Prepaid insurance Rs. 300 and Prepaid Salaries  
Rs. 700.  

 v¸. ©uß AÁºPÎß ¤ßÁ¸® C¸¨£õ´ÂÀ C¸¢x 
Â¯õ£õμ, C»õ£ ©ØÖ® |mh PnUS ©ØÖ® C¸¨¦ {ø» 
SÔ¨¦ u¯õº ö\´P. 

 ¹.  ¹. 

£Ø£» PhÚõÎPÒ 92,000 ©uÛß ‰»uÚ® 70,000

ö£õÔ ©ØÖ® C¯¢vμ® 20,000 öPõÒ•uÀ v¸¨£® 2,600

Ámi 430 ÂØ£øÚ 2,50,000

ÁõhøP Ãu®, Á› ©ØÖ® Põ¨¥k 5,600 £Ø£» PhÜ¢÷uõº 60,000

÷£õUSÁμzx Pmhn[PÒ 1,320 Á[Q ÷©ÀÁøμ £ØÖ 20,000

T¼PÒ 7,000    

ÂØ£øÚ v¸¨£® 5400    

öPõÒ•uÀ 1,50,000    

öuõhUP \μUQ¸¨¦ 60,000    

©uÛß Gk¨¦PÒ  22,000    

ÁºzuP ö\»ÄPÒ 1,350    

\®£Í® 11,200  

ÂÍ®£μ® 840  

uÒÐ£i 600    

ÁμõUPhß 800    

ÁoP ÁÍõP® 12,000    

AøÓP»ß ©ØÖ® ö£õ¸zxøP 10,000    

øP°¸¨¦ öμõUP® 2,060    

 4,02,600   4,02,600
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 \›PmkuÀPÒ : 

 (A) 31.12.96 AßÖ \μUS øP°¸¨¦ ¹. 90,000 

 (B) ÁÍõPzvÀ 2.5% ÷u´©õÚ®, ö£õÔ ©ØÖ® C¯¢vμ® 
«x 7.5% AøÓP»ß ©ØÖ® ö£õ¸zxøP «x 10% 
÷u´©õÚ® u¸UP. 

 (C) ÷©¾® ÁμõUPhßPÍõP ¹. 800 ÷£õUS GÊxP. 

 (D) £Ø£» PhÚõÎÀ C¸¢x 5% GßÓ I´¯U Phß 
JxUS JxUSP. 

 (E) ÁõhøP {¾øÁ ¹. 500 BPÄ®, {¾øÁz öuõøP 
¹. 400 BPÄ® C¸¢ux. 

 (F) •ßTmi ö\¾zv¯ Põ¨¥k ¹. 300 ©ØÖ® •ßTmi 
ö\¾zv¯ \®£Í® ¹. 700.  

  

 

——————— 
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ADVANCED ACCOUNTANCY – II 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Bills of exchange. 

 ©õØÖa^mk Áøμ¯ÖUPÄ®. 

2. What is retiring a bill under rebate? 

 uÒÐ£i°ß RÌ K´Ä ©õØÖa^møh ö£ÖÁx GßÓõÀ 
GßÚ? 

3. Mention the Insurance Claims. 

 Põ¨¥mk E›ø© ÷PõμÀPÒ £ØÔ SÔ¨¤kP. 

4. Give the meaning of Consequential Loss Policy. 

 öuõhºa]¯õÚ CÇ¨¦U öPõÒøP°ß AºzuzøuU öPõk. 

5. What do you mean by Consignment. 

 AÝ¨¥k Gß£uß ö£õ¸Ò ¯õx? 

6. Define the term Abnormal Loss. 

 A\õuõμn CÇ¨¦ GßÓ Áõºzøuø¯ Áøμ¯ÖUPÄ®. 

Sub. Code 
22BCO2C1 
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7. Who are Co-venturers? 

 CønTmhõÎPÒ Gß£ÁºPÒ ¯õº? 

8. What do you mean by Joint Bank Account? 

 Tmk Á[QU PnUS Gß£x GßÚ? 

9. State the meaning of Statement of Affairs. 

 {v{ø» AÔUøP Gß£uß AºzuzøuU SÔ¨¤kP. 

10. Define Net worth method. 

 {Pμ ©v¨¦ •øÓø¯ Áøμ¯ÖUPÄ®. 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Distinguish between a Trade bill and an 
Accommodation bill. 

  Â¯õ£õμa^mk ©ØÖ® ©õØÖ Á\v EsiUS® 
Cøh÷¯ EÒÍ ÷ÁÖ£õk. 

Or 

 (b) On 01-01-2018, Kumar sold goods to Mani on credit 
for Rs. 2,000 and drew a bill on Mani for Rs. 2,000 
for 3 months after date. Mani accepted it on  
03-01-2018 and returned it to Kumar. On maturity, 
the bill was duly honoured by Mani. Pass journal 
entries in the books of Kumar. 

  01.01.2018 AßÖ S©õº, ©o Gß£Á›h® Phß 
Áõ[Q ¹. 2,000 ©ØÖ® 3 ©õu ÷uvUS¨ ¤ÓS ©o 
«x ¹. 2,000 ¤À ÷£õmhõº. ©o 03.01.2018 AßÖ 
Aøu HØÖUöPõsk S©õ›h® v¸¨¤U öPõkzuõº. 
•vºa]¯øh¢u {ø»°À, A¢u ©õØÖa^møh 
©o¯õÀ •øÓ¯õP ©vUP¨£mhx. S©õ›ß 
¦zuP[PÎÀ SÔ¨÷£mk £vÄPøÍz u¸P. 
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12. (a) How will you ascertain the claim for loss of profit as 
a result of fire? 

  w°ÚõÀ HØ£k® C»õ£ CÇ¨¦UPõÚ ÷Põ›UøPø¯ 
GÆÁõÖ PshÔÃº. 

Or 

 (b) A fire occurred at the premises of a trader on 
31.5.2016 destroying a great part of his goods. His 
stock at 1.1.2016 was Rs. 1,20,000. The value of 
stock salvaged was Rs. 27,000. The gross profit on 
sales was 60% and sales amounted to Rs. 3,06,000 
from January to date of fire, while for the same 
period the purchases amounted to Rs. 2,07,000. 
Prepare a statement of claim. 

  31.5.2016 AßÖ J¸ ÁºzuP›ß ÁÍõPzvÀ w Â£zx 
HØ£mhx. AÁμx \μUS 1.1.2016 ¹. 1,20,000. 
Põ¨£õØÓ¨£mh \μUSPÎß ©v¨¦ ¹. 27,000. 
ÂØ£øÚ°ß ö©õzu »õ£® 60% ©ØÖ® ÂØ£øÚ ¹. 
3,06,000. áÚÁ› •uÀ w ÷uv Áøμ. A÷u 
Põ»PmhzvÀ öPõÒ•uÀ ¹. 2,07,000. E›ø©÷PõμÀ 
AÔUøPø¯z u¯õ›UP. 

13. (a) Explain the method of maintain accounts in the 
books of consignor and consignee. 

  AÝ¨¦|º ©ØÖ® \μUSuõμº ¦zuP[PÎÀ 
PnUSPøÍ £μõ©›US® •øÓø¯ ÂÍUSP. 

Or 

 (b) Vijay consigns to Surya 160 cases of goods at a cost 
of Rs. 500 per case, and Incurs cartage and freight 
Rs. 1,200 and insurance Rs. 2,800. 

   On the arrival of the goods, Surya pays clearing 
charges and cartage Rs. 800 and storage charges  
Rs. 400. 120 cases are sold for 40,000. He is entitled 
to a commission of 20%. Compute the value of 
closing stock. 
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  \μUS¨ ö£mhP® JßÔß AhUP©õQ¯ ¹. 500 Ãu® 
160 ö£mhP[PøÍ Âá´ Gß£Áº `º¯õ 
Gß£Á¸US AÝ¨¥k ö\´QÓõº. AÁº Ax SÔzxU 
ö\´²® ö\»ÄPÒ. 

   ÁsiU Pmhn® \zu•® – ¹. 1,200,  

  Põ¨¥k –¹. 2,800 

   \μUS Á¢u ÷\º¢uÄhß `º¯õ ö\´u ö\»ÄPÒ 

   APØÖU Pmhn® ÁsiU Pmhn•® – ¹. 800,  
£sh¨ £õxPõ¨¦U Pmhn® ¹. 400. `º¯õ 120 

ö£mhP[PøÍ ¹. 40,000 US ÂØQÓõº. AÁ¸US›¯ 

PÈÄ 20% CÖv \μUQ¸¨¦ ©v¨ø£U PnUQkP. 

14. (a) What are the features of a joint venture? 

  CønÂøÚ PnUQß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

Or 

 (b) K and R entered into a joint venture of Repairs for 
Housing Quarters at an agreed price of Rs. 10,000.  
R supplied materials for Rs. 6,000 and K supplied 
equipments for Rs. 1,000. K has also taken back the 
equipment at the end at an agreed value of Rs.500. 
Prepare joint venture A/c in the books of R. 

  K ©ØÖ® R Gß÷£õº Cøn ÂøÚ°À Ãmk 

{»¨£Sv \›£õºUS® £oUPõP ¹. 10,000 

HØÖUöPõshÚº. R Gß£Áº ¹. 6,000 zvØPõÚ 

ö£õ¸ÒPøÍ ÁÇ[QÚõº ©ØÖ® K Gß£Áº ¹. 1,000 
zvØUS E£Pμn[PøÍ ÁÇ[QÚõº. AÁº uõß 

ÁÇ[Q¯ E£Pμn[PÎß ¹. 500 ©v¨¦ÒÍ 
ö£õ¸øÍ v¸®£ ö£ØÖU öPõshõº.  

  R ¦zuP[PÎÀ Cøn–ÂøÚU PnUQøÚ u¯õº 
ö\´P. 
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15.  (a) Classify the advantages of single entry system. 

  JØøÓ £vÄ •øÓ°ß |ßø©PøÍ ÁøP¨£kzxP. 

Or 

 (b) Find out profit from following data : 
 Rs. 

Capital at the beginning of the year 8,00,000 
Drawings during this year 1,80,000 
Capital at the end of year 9,00,000 
Capital introduced during the year 50,000 

  ¤ßÁ¸® uμÄPÎ¼¸¢x C»õ£zøuU PshÔP. 

 ¹. 

Bsiß Bμ®£ •uÀ 8,00,000 
C¢u Á¸hzvß Gk¨¦PÒ 1,80,000 
Bsiß CÖv •uÀ 9,00,000 
Bsiß TkuÀ •uÀ 50,000 

 Part C  (3 × 10 = 30) 
Answer any three questions. 

16. Gokul purchased goods from Rahul for Rs. 4,000 on  
1st March, 2019, the same day he gave a promissory note 
for the amount payable after two months. On 4th March, 
this was discounted by Rahul with his baners at the rate 
of 6% per annum. The promissory note was dishonoured 
on the due date and that the baners have incurred noting 
charges of Rs. 20. When approached by Gokul, Rahul 
agreed to receive a sum of Rs. 1,060 in cash and two 
promissory notes one at two months for Rs. 1,000 and the 
other at 3 months for Rs. 2,000 in full settlement from 
him. The first promissory note which has been endorsed 
to Trisul was duly honoured at maturity. The second note 
was dishonoured due to Gokul’s insolvency. Rahul could 
recover only 40 paise in the Rupee as first and final 
dividend from the estate of Gokul. Show journal entries 
and ledger accounts in the books of Rahul and Gokul. 
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 ÷PõSÀ, μõSÀ Gß£Á›hª¸¢x ¹. 4,000 ©v¨¦ÒÍ 
\μUSPøÍ 1.3.2019 AßÖ öPõÒ•uÀ ö\´uõº. A÷u 
|õÎß ©õºa 4 ÷uv Cμsk ©õu[PÐUPõÚ TÖv¨ 
£zvμzøuU öPõkzuõº. A¢u EÖv¨ £zvμzøuU μõSÀ 
Á[Q°ß Á¸hzvØS 6 \uÃuzvØSz uÒÐ£i ö\´uõº. 
EÖv¨ £zvμ® •vºÄ ÷uv¯ßÖ AÁ©v¨¦ 
ö\´¯¨£mhx. ÷©¾® Á[Q ¹. 20 I SÔUøPU 
Pmhn©õPa ö\¾zv¯x. μõSÀ ÷PõS¼hª¸¢x  
¹. 1,060 I öμõUP©õPÄ® ÷©¾® Cμsk EÖv¨ 
£zvμ[PøÍ²® Áμ÷Ási¯ •ÊzöuõøPUPõP¨ ö£ØÓõº. 
AvÀ JßÖ Cμsk ©õuzvØPõÚ ¹£õ´. 1,000 EÖv¨ 
£zvμ® ©ØöÓõßÖ ‰ßÖ ©õuzvØPõÚ ¹. 2,000 EÖv 
£zvμ®, A¢u •uÀ EÖv¨ £zvμ® v›`À Gß£Á›ß 
ö£¯›ß ÷©ö»Êu¨£mk AuØPõÚ £n® ö£Ó¨£mhx. 
CμshõÁx EÖv¨£zvμ® ÷PõSÀ vÁõ»õÚuõÀ 
AÁvUP¨£mhx. μõSÀ ÷PõS¼hª¸¢x ¹£õ´US 40 
ø£\õ Ãu® CÖv Buõ¯©õP¨ ö£ØÖ¨ öPõshõº. μõSÀ 
©ØÖ® ÷PõSÀ ¦zuPzvÀ SÔ¨÷£k ©ØÖ® ÷£÷μmkU 
PnUøPz u¸P. 

17. A fire broke out in the warehouse of The Lal Ltd. on 30th 
Sep. 2022. The company wishes to file a claim with the 
insurance company for loss of stock and gives you the 
following information to enable you to prepare a 
statement of the amount to be claimed. 

 The last accounts of the company were prepared on  
31-12-2021. 

 Rs. 
Sundry debtors on 31.12.2021 80,000
Sundry debtors on 30.9.2022 60,000
Cash collected from debtors 2,88,000
Stock on 31.12.2021 30,000
Sundry creditors on 31.12.2021 2,00,000
Sundry creditors on 30.9.2022 4,00,000
Cash paid to creditors 40,000
Goods returned to creditors 10,000
Rate of gross profit to sales 20%

 Prepare the necessary accounts, showing all your 
workings to arrive at the amount of claim. 
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 ö\¨h®£º 30, 2022 AßÖ v »õÀ ¼ªöhm Qh[QÀ w 
Â£zx HØ£mhx. {ÖÁÚ® CÇ¨¦UPõP Põ¨¥mk 
{ÖÁÚzvh® E›ø©÷Põμø» uõUPÀ ö\´¯ Â¸®¦QÓx 
¤ßÁ¸® uPÁÀPÎ¼¸¢x ÷Põμ ÷Ási¯ öuõøP°ß 
AÔUøPø¯z u¯õ›UPÄ®. 

 {ÖÁÚzvß Pøh] PnUSPÒ 31.12.2021 AßÖ 
u¯õ›UP¨£mhÚ. 

 ¹. 

31.12.2021 AßÖ £Ø£» PhÚõÎPÒ 80,000

30.9.2022 AßÖ £Ø£» PhÚõÎPÒ 60,000
PhÚõÎPÎhª¸¢x ö£ØÓ £n® 2,88,000

31.12.2021 AßÖ \μUQ¸¨¦ 30,000

31.12.2021 AßÖ £Ø£» PhÜ¢÷uõº 2,00,000

30.9.2022 AßÖ £Ø£» PhÜ¢÷uõº 4,00,000
Phß ÁÇ[S£ÁºPÐUS £n® ö\¾zu¨£mhx 40,000
PhÚõÎzuÁºPÐUS ö£õ¸mPÒ v¸¨¤z 
uμ¨£mhÚ 

10,000

ÂØ£øÚ°ß ö©õzu »õ£ ÂQu® 20%

 E›ø©÷PõμÀ öuõøPø¯ Aøh¯ ÷uøÁ¯õÚ PnUSPøÍ 
u¯õº ö\´P. 

18. Priya sent on 1st April 2020 to Rifa goods costing  
Rs. 1,00,000 and spent Rs. 2000 on packing etc. On  
3rd April 2020 Rifa received the goods and sent his 
acceptance to Priya and given Rs. 60,000 as advance. Rifa 
spent Rs. 2,000 on freight and cartage, Rs. 1,000 on 
godown rent and 600 on insurance. On 31st Dec 2021, he 
sends his account sales (along with the amount due to 
Rifa) showing that the sale is of 4/5 of the goods for  
Rs. 1,10,000. The terms of the consignment entitle Rifa to 
a commission of 10%. One of the customers turned 
insolvent and could not pay Rs. 1,200 due to him. Show 
the necessary general entries in the books of the 
consignor. Also, prepare ledger accounts. 
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 ¤›¯õ H¨μÀ 1, 2020 À ›L£õ ö£õ¸mPÐUS ¹. 1,00,000 

©ØÖ® ö\»Ä ¹. 2,000 ÷£UQ[ ÷£õßÓÁØÔÀ 2020 B® 

Bsk H¨μÀ 3 B® ÷uv ›L£õ ö£õ¸mPøÍ¨ ö£ØÖ 

uÚx J¨¦uø» ¤›¯õUS AÝ¨¤ ¹. 60,000 

•ß£n©õPU öPõkzuõº. ›L£õ \μUS ©ØÖ® Põº÷háúUS 

¹. 2,000, S÷hõß ÁõhøPUS ¹. 1,000 ©ØÖ® 

Põ¨¥mkUS ¹. 600 ö\»Ä ö\´uõº. 31 AßÖ i\®£º 

2021, AÁº uÚx PnUQÀ ÂØ£øÚ Põμn©õP ›L£õ 

öuõøPø¯ ÷\ºzx) ÂØ£øÚ ¹. 1,10,000 UPõÚ 

ö£õ¸mPøÍ 4/5 ÂØ£øÚ GßÖ PõmkQÓõº. \μUS 

{£¢uøÚPÎÀ ›L£õ 10% PªåÝUS E›ø© Esk. 

ÁõiUøP¯õÍºPÎÀ J¸Áº vÁõ»õQ AÁ¸US ¹. 1,200 

ö\¾zu •i¯ÂÀø». AÝ¨¦|›ß ¦zuP[PÎÀ 

÷uøÁ¯õÚ ö£õx EÒÏkPøÍU Põmi  ÷©¾®, ÷£÷μmkU 

PnUSPøÍ u¯õº ö\´P. 

19. Ramu and Rahim enter into a joint venture to share the 

results as to 2 : 1. The joint venture transactions are as 

under. 

 Ramu 

Rs. 

Rahirn 

Rs. 

Goods Supplied 60,000 30,000

Expenses Paid 8,000 2,000

Sales proceeds received 80,000 56,000

 Show the journal entries and ledger accounts in the books 

of Ramu. 
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 2 : 1 GÚ •iÄPøÍ¨ £Qº¢x öPõÒÍ μõ• ©ØÖ® μï® 
J¸ Tmk •¯Ø]°À ~øÇQÓõºPÒ. Tmk {ÖÁÚ 
£›ÁºzuøÚPÒ RÌÁ¸©õÖ. 

 μõ•  
¹. 

μï® 
¹. 

ö£õ¸mPÒ ÁÇ[P¨£mhx 60,000 30,000
ö\¾zu¨£mh ö\»ÄPÒ 8,000 2,000
ÂØ£øÚ Á¸©õÚ® ö£Ó¨£mhx  80,000 56,000

 μõ•Âß ¦zuP[PÎÀ SÔ¨÷£k ©ØÖ® ÷£÷μmkU 
PnUSPøÍ u¯õº ö\´P. 

20. From the following details, prepare Trading and Profit 
and Loss account for the period ended 31.3.2019 and a  
balance sheet on that date. 

 31.3.2018 31.3.2019

 Rs. Rs. 

Cash 12,500 20,000

Furniture 5,000 5,000

Sundry creditors 75,000 87,500

Sundry debtors 1,25,000 1,75,000

Stock 50,000 25,000

  Other details : 
 Rs. 

Purchase return 2,500 

Sales return 7,500 

Discount received 7,500 

Discount allowed 5,000 

Drawings 20,000 

Cash sales 2,500 

Sundry expenses 17,500 

Cash received from debtors 2,67,500 

Cash paid to creditors 2,25,000 
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 RÌUPõq® ÂÁμ[PøÍU öPõsk 2019 ©õºa 31 B® 
|õ÷Íõk •iÁøh²® BskUS›¯ Â¯õ£õμ, C»õ£ 
|mhU PnUøP²®, A¢|õøÍ¯ C¸¨¦ {ø»U SÔ¨ø£²® 
u¯õº ö\´P. 

 31.3.2018 31.3.2019

 ¹. ¹. 

öμõUP® 12,500 20,000

AøÓP»ß 5,000 5,000

£Ø£» PhÚõÎPÒ 75,000 87,500

£Ø£» PhÜ¢÷uõº 1,25,000 1,75,000

\μUQ¸¨¦ 50,000 25,000

  ©ØÓ ÂÁμ[PÒ : 
 ¹. 

öPõÒ•uÀ v¸¨£® 2,500 
ÂØ£øÚ v¸¨£® 7,500 
ö£ØÓ uÒÐ£i 7,500 
AÎzu uÒÍ£i 5,000 
Gk¨¦ 20,000 
öμõUP ÂØ£øÚ 2,500 
£ÀÁøPa ö\»ÄPÒ 17,500 
PhÜ¢÷uõ¸US AÎzu öμõUP®  2,67,500 
PhÚõÎPÎhª¸¢x öμõUP® ö£ØÓx 2,25,000 

 

  
———————— 
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B.Com. DEGREE EXAMINATION, APRIL 2024 

Second Semester 

Commerce 

PRINCIPLES OF MANAGEMENT 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What do you mean by ‘Management’? 

 ‘÷©»õsø©’ GßÓõÀ GßÚ? 

2. Define ‘Planning’. 

 ‘vmhªkuÀ’ Áøμ¯Ö. 

3. What is ‘Objective’? 

 ‘÷|õUP®’ GßÓõÀ GßÚ? 

4. Define ‘Decision making’. 

 ‘•iöÁkzuÀ’ Áøμ¯Ö. 

5. What is meant by ‘Departmentalization’? 

 ‘xøÓ©¯©õUSuÀ’ GßÓõÀ GßÚ? 

6. Define ‘Decentralisation’. 

 ‘£μÁ»õUSuÀ’ Áøμ¯Ö. 

7. What do you mean by ‘Direction’? 

 ‘C¯USÂzuÀ’ GßÓõÀ GßÚ? 

Sub. Code 
22BCO2C2 
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8. What is ‘Communication’? 

 ‘uPÁÀ öuõhº¦’ GßÓõÀ GßÚ? 

9. Define ‘Controlling’. 

 ‘Pmk¨£kzxuÀ’ Áøμ¯Ö. 

10. What do you mean by ‘CPM’? 

 ‘CPM’ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the functions of management? 

  ÷©»õsø©°ß £oPÒ ¯õøÁ? 

Or 

 (b) State the importance of management. 

  ÷©»õsø©°ß •UQ¯zxÁzøuU TÖP. 

12. (a) Mention the types of plans. 

  vmh[PÎß £À÷ÁÖ ÁøPPøÍ SÔ¨¤kP. 

Or 

 (b) What are the objectives of planning? 

  vmhªku¼ß ÷|õUP[PÒ ¯õøÁ? 

13. (a) Point out the factors governing the span of 
management. 

  ÷©»õsø© Ãaö\Àø»ø¯ {ºn°US® 
PõμoPøÍU SÔ¨¤kP. 

Or 

 (b) Compare centralization with decentralization. 

  ø©¯¨£kzxuø», £μÁ»õUSu¾hß J¨¤kP. 
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14. (a) Bring out the principles of direction. 

  C¯USÂzu¼ß ÷Põm£õkPøÍ u¸P. 

Or 

 (b) Indicate the importance of motivation. 

  ö\¯¿UP¨£kzxu¼ß •UQ¯zxÁzøu SÔ¨¤kP. 

15.  (a) What are the steps in controlling? 

  Pmk¨£kzxu¼À EÒÍ £i{ø»PÒ ¯õøÁ? 

Or 

 (b) Why controlling is essential? 

  Pmk¨£kzxu¼ß AÁ]¯® ¯õx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. List out the contributions of F.W. Taylor. 

 F.W. öh´»›ß ÷©»õsø© SÔzu £[PÎ¨¦PøÍ 
£mi¯¼kP. 

17. Discuss the steps in planning. 

 vmhªku¼À EÒÍ £i{ø»PøÍ ÂÁ›. 

18. Explain the principles of organising. 

 Aø©¨¦ •øÓ°ß ÷Põm£õkPøÍ ÂÍUSP. 

19. How will you make communication effective? 

 uPÁÀ öuõhºø£ GÆÁõÖ ]Ó¢uuõP BUSÁõ´? 

20. State the different control techniques. 

 Pmk¨£kzxu¼À EÒÍ £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

  
———————— 
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U.G. DEGREE EXAMINATION, APRIL 2024 

Commerce 

Allied — FINANCIAL ACCOUNTING — II 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. State the need for calculating average of due date. 

 \μõ\› uÁøn |õÒ PnUQkÁvß ÷uøÁ GßÚ? 

2. Define the term account current. 

 |h¨¦ PnUS Gß£uß ÁøμÂ»UPn® ¯õx? 

3. What is income and expenditure account? 

 Á¸Áõ´ ö\»ÂÚ PnUS GßÓõÀ GßÚ? 

4. What is subscription? 

 \¢uõ GßÓõÀ GßÚ? 

5. What is debtors ledger? 

 PhÚõÎ ÷£÷μk GßÓõÀ GßÚ? 

6. Define self balancing system 

 uõ÷© \›UPmk® •øÓ°øÚ Áøμ¯Ö. 

7. What is net worth method? 

 {Pμ ©v¨¦ •øÓ GßÓõÀ GßÚ? 

Sub. Code 
22BCOA2 



S–2176 

  

  2

8. What is debtors account? 

 PhÚõÎPÒ PnUS GßÓõÀ GßÚ? 

9. State any two causes of depreciation? 

 ÷u´©õÚzvß HuõÁx Cμsk Põμn[PøÍ TÖP. 

10. What is straight line method? 

 ÷|º÷Põmk •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Ram owes to Rahim the following sums: 
 Rs. 

On 15th March 2009 600
On 20th April 2009 800
On 15th May 2009 1,000
On 31st May 2009 400

  Find the average due date. 

  μõ® Gß£Áº μç® Gß£Á¸US öPõkUP ÷Ási¯ 
öuõøP ¤ßÁ¸©õÖ:   

 ¹. 

2009 ©õºa 15À 600

2009 H¨μÀ 20À 800

2009 ÷© 15À 1,000

2009 ÷© 31À 400

  \μõ\› uÁøn |õøÍ Psk¤i. 

Or 

 (b) State the purposes of account current.  

  |h¨¦ PnUQß ÷|õUP[PøÍ TÖP. 
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12. (a) From the following find how much is to be shown in 
Income and Expenditure account for the year 
ending 31.12.2014 for subscription. 

      Rs. 

  Subscription received during the year 28,000 

  Subscription outstanding on 1.1.2014 2,400 

  Subscription outstanding on 31.12.2014 3,000 

  Subscription received in advance on 1.1.2014 1,800 

  Subscription received in advance  
   on 31.12.2014   1,000 

  RÌUPsh Â£μ[PÎ¼¸¢x 31.12.2014&À 
•iÁøh²® BsiØPõÚ Á¸Áõ´ ö\»ÂÚU 
PnUQÀ \¢uõ öuõøP GÆÂu® Põmh¨£k®. 

      ¹. 

  \¢uõ ö£ØÓø© &(|h¨¦ BsiØPõÚx) 28,000 

  01.01.2014À Áμ÷Ási¯ \¢uõ 2,400 

  31.12.2014À Áμ÷Ási¯ \¢uõ 3,000 

  01.01.2014À •ß Tmi¨ö£ØÓ \¢uõ 1,800 

  31.12.2014 À •ß Tmi¨ ö£ØÓ \¢uõ  1,000 

Or 

 (b) Distinguish between a income and expenditure and 
a receipts and payments account. 

Á¸Áõ´ ö\»ÂÚ PnUQØS®, ö£ÖuÀ ö\¾zuÀ 
PnUQØS® EÒÍ ÷ÁÖ£õkPÒ ¯õøÁ? 

13. (a) What is debtors ledger? Mention the objectives of 
preparing it. 

  PhÚõÎ ÷£÷μk GßÓõÀ GßÚ?  Aøu u¯õ›¨£uß 
÷|õUP[PøÍU SÔ¨¤hÄ®. 

Or 
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 (b) Prepare the sales ledger adjustment a/c from the 
following information relating to the year ended 
31.12.2021 : 

 Rs. 
Opening balance of debtors 40,000
Sales (for cash of Rs. 10,000) 90,000
Cash received from debtors 80,000
Discount allowed to debtors 500
Bills receivable received from debtors 3,000
Sales return 8,000
Bills receivable dishonoured 5,000
Bad debts 1,000
Transfer to purchase ledger 2,000
Reserve for doubtful debts 1,500
Bad debts of the last year received 1,000

  31.12.2021 •iÁøh¢u Bsk öuõhº£õÚ 
¤ßÁ¸® uPÁÀPÎ¼¸¢x ÂØ£øÚ¨ ÷£÷μk 
\›ö\´uÀ PnUøPz u¯õ›UPÄ®.  

 ¹. 

PhÚõÎPÎß öuõhUP C¸¨¦ 40,000

ÂØ£øÚ (öμõUP©õP ¹.10,000) 90,000

PhÚõÎPÎhª¸¢x ö£Ó¨£mh £n® 80,000

PhÚõÎPÐUS AÝ©vUP¨£mh uÒÐ£i 500

PhÚõÎPÎh® C¸¢x ö£ØÓ ö£ÓzuUP ÷Ási¯ 
μ^xPÒ 

3,000

ÂØ£øÚ v¸¨£® 8,000

ö£ÓzuUP μ^xPÎß ©v¨¤Ç¢ux 5,000

ÁμõUPhß 1,000

öPõÒ•uÀ ÷£÷μkUS ©õØÓ¨£mhx 2,000

\¢÷uPzvØUS E›¯ PhßöuõøPUS JxURk 1,500

Ph¢u Á¸hzvß Áõμõ PhÛ¸¢x ö£ØÓx 1,000
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14. (a) Find out profit from the information given below : 

                                            Rs. 
  Capital at the beginning of the year  24,00,000 
  Drawing during the year  2,00,000 
  Capital introduced during the year  1,00,000 
  Capital at the end of the year  30,00,000 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C»õ£zvøÚ Psk¤i: 

       ¹. 

  Bsiß öuõhUP •uÀ   24,00,000 
  Bsiß Gk¨¦    2,00,000 
  C¢u Bsk Cmh •uÀ    1,00,000 
  Bsiß CÖv •uÀ   30,00,000 

Or 

 (b) How do you find profit or loss under conversion 
method? 

  ©õØÖ •øÓ°ß RÌ C»õ£® AÀ»x |èhzøu 
G¨£i Psk¤i¨£õ´? 

15. (a) Rohit purchases a machine for Rs.1,00,000 on 
1.1.2020. Its estimated useful life is 5 years and 
scarp values Rs.10,000. It is decided to written off 
depreciation under straight line method. Prepare a 
machine account for 3 years. 

  1.1.2020 AßÖ ÷μõQz J¸ C¯¢vμzøu ¹.1,00,000 
Áõ[QÚõº.  Auß £¯ß£õmk Põ»® 5 BskPÒ 
©ØÖ® G›ÁÎ CÖv ©v¨¦ ¹.10,000 BS®.  
÷|º÷Põmk •øÓ°À ÷u´©õÚ® GÚ öPõsk 
©v¨¤h¨£kQÓx 3 BskPÐUS C¯¢vμ PnUøP 
u¯õ›UP. 

Or 

 (b) State the objectives of providing depreciation.  

  ÷u´©õÚzvØS £n® JxUSÁuØPõÚ 
÷|õUP[PøÍU SÔ¨¤hÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Kasthuri owes Viji the following sums of money due on 
the dates stated 

 Rs.400 due on 5th Jan 2019 
 Rs.200 due on 20th Jan 2019 
 Rs.800 due on 4th Feb 2019 
 Rs.100 due on 26th Feb 2019 
 Rs.50 due on 10th March 2019 

 Calculate such a date when payment may be made by the 
Kasthuri in one instalment resulting in no loss to either 
party. 

 Pìy› RÌUPsh ÷uvPÎÀ öuõøPPøÍ ÂâUS öPõkUP 
÷Ási²ÒÍx. 

 ¹.400, 2019 áÚÁ› 5À öPõkUP ÷Ási²ÒÍx 
 ¹.200, 2019 áÚÁ› 20À öPõkUP ÷Ási²ÒÍx  
 ¹.800, 2019 ¤¨μÁ› 4À öPõkUP ÷Ási²ÒÍx  
 ¹.100, 2019 ¤¨μÁ› 26À öPõkUP ÷Ási²ÒÍx 
 ¹.50, 2019 ©õºa 10À öPõkUP ÷Ási²ÒÍx 

 ¯õ¸US® |mh÷©Ø£hõ©À Pìy›¯õÀ J÷μ ÷uv°À 
GÀ»õ uÁønPøÍ²® ö\¾zu Â¸®¤ÚõÀ •vºÄ 
÷uvø¯ PnUQkP. 

17. Prepare an Income and Expenditure Account of the 
sports society for the year ended 31st March 2017. 

Receipts Rs. Payments Rs. 
To opening Balance 1,800 By Salaries 4,800
To Subscription 9,000 By Rent 700
To Sale of investments 2,000 By Furniture  
To Donations 100 purchased 2,000
To sale of old furniture  By Machinery  
 (Book value Rs.400) 300 purchased 3,000
  By Closing Balance 2,700
 13,200  13,200
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 31 ©õºa 2017 |õ÷Íõk •iÁøh²® BskS›¯ 
ÂøÍ¯õmk \[Pzvß Á¸Áõ´ ©ØÖ® ö\»ÂÚ 
PnUQøÚ u¯õ›UP. 

ö£ÖuÀPÒ ¹. ö\¾zxuÀPÒ ¹. 
öuõhUP C¸¨¦ 1,800 \®£Í® 4,800
\¢uõ 9,000 ÁõhøP 700
•u½k ÂØÓx 2,000 AøÓP»ß  
|ßöPõøh 100 Áõ[Q¯x 2,000
£øÇ¯ AøÓP»ß ÂØÓx 300 ö£õØP»ß  
  Áõ[Q¯x 3,000
  CÖv C¸¨¦ 2,700
 13,200  13,200

18. From the following particulars, prepare sales Ledger 
Adjustment a/c and General Ledger Adjustment a/c. 

 Rs.  Rs. 

1.1.2022  31.12.2022 

Sales Ledger Balance 31,500 Sales during the 
month 

75,000

Provision for doubtful 
debts 

2,500 Cash received from 
customers 

65,800

31.12.2022   

Bills accepted by 
customers 

3,200 Returns from 
customers 

550

Cheques received from 
customers 

3,150 Cheques 
dishonoured 

250

Bad debts previously 
written off now recovered 

80 Bills accepted by 
customers renewed 

200

Carriage charged to 
customers 

120 Cash discount 
allowed 

1,300

Cash paid to customers 
by mistake 

130 Interest cheque on 
Bills renewed 

5

Bills dishonoured 800 Bad debts written off 450
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, ÂØ£øÚ ÷£÷μk \›ö\´uÀ 
PnUS ©ØÖ® ö£õx ÷£÷μk \›ö\´uÀ PnUQøÚ 
u¯õ›UPÄ®.        

 ¹.  ¹. 

1.1.2022  31.12.2022 

ÂØ£øÚ ÷£÷μk 
C¸¨¦ 

31,500 C¢u ©õuzvß 
ÂØ£øÚ 

75,000

\¢÷uPzvØS›¯ 
PhßPÐUPõÚ 
JxURk 

2,500 ÁõiUøP¯õÍ›h® 
ö£ØÓ öμõUP® 

65,800

31.12.2022   

ÁõiUøP¯õÍºPÒ 
JzxUöPõsh 
Cμ^xPÒ 

3,200 ÁõiUøP¯õÍºPÎß 
v¸¨£® 

550

ÁõiUøP¯õÍ›h® 
ö£ØÓ Põ÷\õø» 

3,150 Põ÷\õø» 
©v¨¤Ç¢ux 

250

C¨÷£õx ö£Ó¨£mh 
•ß¦ uÒÐ£i 
ö\´¯¨£mh Áõμõ 
PhßPÒ 

80 ¦x¤UP¨£mh 
Cμ^xPÒ 
ÁõiUøP¯õÍºPÒ 
JzxUöPõshx 

200

ÁõiUøP¯õÍºPÎh® 
ö£ØÓ Ási \zu® 

120 AÝ©vUP¨£mh 
öμõUP uÒÐ£i 

1,300

uÁÖu»õP 
ÁõiUøP¯õÍºPÎh® 
ö\¾zv¯ öμõUP® 

130 ¦x¤UP¨£mh 
Cμ^xPÎÀ ö£ØÓ 
Ámi Põ÷\õø» 

5

©v¨¤Ç¢u Cμ^xPÒ 800 uÒÐ£i ö\´u 
ÁõμõPhß 

450
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19. Raman keeps his records lender single entry system.  
Assets and liabilities on 31.12.2018 and 31.12.2019 stood 
as follows: 

 31.12.2018 31.12.2019

 Rs. Rs. 

Cash 10 2,000

Bank 990 10,000

Stock 7,000 10,000

Sundry Debtors 15,000 20,000

Furniture  3,000 3,000

Sundry creditors 3,000 6,000

 He introduced as additional capital of Rs.3,000 during 
2019.  He withdrew Rs.7,000 for his domestic purpose.  
Find out the profit.  

 μõ©ß JØøÓ¨£vÄ •øÓ°À uß HkPøÍ £μõ©›UQÓõº.  
31.12.2018 ©ØÖ® 31.12.2019 ÷uvPÎÀ AÁμx 
ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ RÌPshÁõÖ EÒÍÚ.  

 31.12.2018 31.12.2019

 ¹. ¹. 

öμõUP® 10 2,000

Á[Q°À C¸¨¦ 990 10,000

\μUQ¸¨¦ 7,000 10,000

£Ø£» PhÚõÎPÒ 15,000 20,000

©øÚxøn¨ ö£õ¸mPÒ 3,000 3,000

£Ø£» PhÜ¢÷uõº 3,000 6,000

 AÁº ÷©¾® ¹.3,000 TkuÀ •uÀ 2019&® BsiÀ 
HØ£kzvÚõº.  AÁº uÚx ö\õ¢u ö\»ÂØPõÚ ¹.7,000 
Gk¨¦PÒ Gkzuõº.  C»õ£zøu PnUQkP. 
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20. Arun purchased a machiners on 1st April 2017 for 
Rs.2,00,000.  After having used it for three years it was 
sold for Rs.1,60,000.  Depreciation is to be provided every 
year at the rate of 10% per annum.  On Diminishing 
balance methods.  Accountings are closing on 31st March 
every year.  Prepare a machinery account for 3 years. 

 2017 H¨μÀ 1À A¸s C¯¢vμ® JßÔøÚ ¹.2,00,000US 
Áõ[QÚõº.  ‰ßÓõskPÒ PÈzx ¹.1,60,000&US ÂØÓõº.  
÷u´©õÚ® SøÓ¢u ö\À C¸¨¦ {ø» •øÓ°mh 
BskUS 10 \uÃu® PnUQh¨£kQÓx.  JÆöÁõ¸ 
Bsk® ©õºa 31&À PnUS •iUP¨£kÁuõP öPõsk, 
C¯¢vμ PnUQøÚ ‰ßÓõskPÐUS u¯õ›UP. 

  
———————— 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define “partnership”. 

 Tmhõsø© Áøμ¯Ö. 

2. What is fluctuating capital? 

 ©õÖ£k® •uÀ GßÓõÀ GßÚ? 

3. Give the meaning of new profit sharing ratio? 

 ¦v¯ C»õ£ £QºÄ ÂQu® Gß£uß ö£õ¸Ò u¸P. 

4. What is Goodwill? 

 |Øö£¯º GßÓõÀ GßÚ? 

5. What is Gaining ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

6. What is surrender value? 

 J¨£øh¨¦ ©v¨¦ GßÓõÀ GßÚ? 

Sub. Code 
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7. What is dissolution? 

 Pø»¨¦ GßÓõÀ GßÚ? 

8. Who is an insolvent partner? 

 ö|õi¨¦ {ø» TmhõÎ Gß£Áº ¯õº? 

9. What is proportionate capital method? 

 ÂQuõa\õμ ‰»uÚ •øÓ GßÓõÀ GßÚ? 

10. What is Sale to a company? 

 J¸ {ÖÁÚzvØS ÂØ£øÚ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) What is partnership deed? Describe its contents. 

  Tmhõsø© J¨£õÁn® GßÓõÀ GßÚ? Auß 
EÒÍhUP[PøÍ ÂÁ›UPÄ®. 

Or 

 (b) X and Y are partners in a firm sharing profits and 
losses equality. On 1st January 1995, their capitals 
were Rs. 20,000 and Rs. 10,000 respectively. 
Interest on capital is to be allowed at 5% pa. from 
profits prior to division thereof. The net profit for 
the year ending 31st December 1995, before allowing 
interest on capital amounted to Rs.9,500. 

  Give the journal entries and Prepare Profit and loss 
Appropriation account as on 31st December 1995, 
showing the division of profit between X and Y. 
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  X ©ØÖ® Y J¸ {ÖÁÚzvß C»õ£ |mhzøu \©©õP 

£Q¢x öPõÒÐ® TmhõÎPÒ. áÚÁ› 1 1995, AßÖ 

AÁºPÎß ‰»uÚ® •øÓ÷¯ ¹. 20,000 ©ØÖ®  

¹. 10,000 ‰»uÚzvß «uõÚ Ámi 5% CÀ 
AÝ©vUP¨£h ÷Ásk®. ¤›¨£uØUS •¢øu¯ 

C»õ£zv¼¸¢x. i\®£º 31 1995, CÀ •iÁøh¢u 
BsiØUPõÚ {Pμ C»õ£® ‰»uÚzvß ªuõÚ 

Ámiø¯ AÝ©vUS® •ß ¹.9,500 BS®. 

SÔ¨÷£k u¯õº ö\´x ©ØÖ® 31.12.1995 AßÖ 
C»õ£® ©ØÖ® JxURmk PnUøP u¯õº ö\´x 

TmhõÎ X ©ØÖ® Y C»õ£zøu ¤›zx PõmkP. 

12. (a) Explain – What are the adjustment required to 
admit a new partner? 

  J¸ ¦v¯ TmhõÎø¯ Tmhõsø©°À ÷\ºUS® 
÷£õx ÷uøÁ¯õÚ \›PmkuÀPøÍ ÂÍUSP? 

Or 

 (b) A and B are partner sharing profits and losses in 
the ratio of 5:3. They admit C as a partner. C 
acquires his share 4/20 from A and 2/20 from B. find 
out the new profit sharing ratio and sacrificing 
ratio. 

  TmhõÎPÒ A ©ØÖ® B C»õ£ |mhzøu 5:3. GßÓ 

ÂQuzvÀ ¤›zxU öPõÒQßÓÚº. C ø¯ 

TmhõÎ¯õP ÷\ºzxU öPõÒQßÓÚº. C uÚUPõÚ 

£[øP 4/20 GßÓ ÂQuzvÀ A °h® C¸¢x® 2/20 
GßÖ B °h® C¸¢x® ö£ÖQßÓõº. ¦v¯ C»õ£ 

£QºÄ ÂQu® ©ØÖ® v¯õP ÂQuzøu PnUQkP. 

13. (a) Distinction between sacrificing ratio and Gaining 
ratio. 

  v¯õPÂQu® ©ØÖ® Buõ¯ ÂQuzøu ÷ÁÖ£kzxP. 

Or 
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 (b) X, Y and Z were partner sharing profits in the ratio 
of 2:2:1. Z retires and his share was taken up by  
X and Yin the ratio of 3:2. Calculate the gaining 
ratio of X and Y. 

  TmhõÎPÍõÚ X, Y ©ØÖ® Z 2:2:1 GßÓ ÂQuzvÀ 

C»õ£zøu £Qº¢x öPõÒQßÓÚº. Z J´Ä ö£Ö® 

÷£õx AÁ›ß £[SPÒ 3:2. GßÓ ÂQuzvÀ X ©ØÖ® 
Y £Qº¢x öPõÒQßÓÚº. X, ©ØÖ® Y  Buõ¯ 

ÂQuzøu PnUQkP. 

14. (a) Briefly explain the Rule laid down in Garner Vs 
Murray case. 

  PõºÚº Vs •º÷μ ÁÇUQÀ ÁSUP¨£mh Âvø¯ 
_¸UP©õP ÂÍUSP. 

Or 

 (b) X, Y and Z who are equal partners decided to 
dissolve their firm, The following is their Balance 
Sheet after the sale of the assets:  

Liabilities Rs. Assets Rs. 

X’s capital 1,800 Cash 1,500

Y’s capital 1,200 Z’s capital 

  overdrawn 600

  realisation 900

 3,000  3,000

  Z become insolvent and could not pay anything to 
the firm. Prepare the necessary ledger accounts to 
close the books of the firm. There was no agreement 
among the partner. 
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  \© TmhõÎPÍõÚ X, Y ©ØÖ® Z u[PÒ {ÖÁÚzøu 
Pø»UP •iÄ ö\´uÚº. ö\õzxUPøÍ ÂØÓ ¤ÓS 
AÁºPÎß C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ:  

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 
X’ß •uÀ 1,800 öμõUP® 1,500
Y ß •uÀ 1,200 Z’ªøP£kzu¨£mh
 •uÀ 600
 wºøÁ 900
 3,000  3,000

  Z vÁõ»õQ {ÖÁÚzvØUS Gøu²® ö\¾zu 
•i¯ÂÀø». {ÖÁÚzvß HkPøÍ ‰kÁuØUS 
÷uøÁ¯õÚ ÷£÷μmk PnUøP u¯õº ö\´P. 
TmhõÎPÐUS Cøh÷¯ G¢u Âu©õÚ J¨£¢u•® 
CÀø». 

15.  (a) What do you understand by place meal distribution? 
Explain the maximum cost method. 

  öμõUP¨ £QºÄ GßÓõÀ GßÚ? AvP £m\ ö\»Ä 
•øÓø¯ ÂÍUSP. 

Or 

 (b) X Ltd. Agreed to purchase the business of Mohamed 
and Ahamed as on 31-3-2003. Their assets on that 
date were Rs.4,40,000 and liabilities to outsiders 
Rs.1,60,000. For the purpose of sales, it is agreed 
that 90% of the assets alone will be taken over at 
10% discount. Liabilities are to be taken subject to 
rebate of 5%. Goodwill is deemed worth Rs.40,000. 
Ascertain Purchase consideration. 

  X ¼ªöhm 31-3-2003 AßÖ •P©x ©ØÖ® AP©x 
BQ÷¯õ›ß ÁoPzøu Áõ[P J¨¦U öPõÒQßÓÚº 
AßøÓ¯ |õÎÀ AÁºPÎß ö\õzxUPÒ ¹.4,40,000 
©ØÖ® öÁÎ¯õmPÐUS öPõk£h ÷Ási¯ 
ö£õÖ¨¦PÒ ¹.1,60,000. ÂØ£øÚ ÷|õUPzvØPõP  
90% ö\õzxUPÒ 10% uÒÐ£i°À GkzxUöPõÒÍ 
J¨¦UöPõÒQßÓÚº. ö£õÖ[£¦PÒ 5%. uÒÐ£iUS 
Em£mk J¨¦UöPõÒÍ¨£kQßÓx |Øö£¯º. 
¹.40,000. GÚ ©v¨¤h¨£mhx.  öPõÒ•uÀ ©Ö£¯ß  
PnUøP u¯õº ö\´P. 



S–2177 

  

  6

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. On 1st January 1991, Kavitha and Sumathy entered into 
partnership and contributed Rs. 80,000 and Rs. 60,000 
respectively They share profits and losses in the ratio of 
3:2. Sumathy is to be allowed a salary of Rs. 16,000 per 
year. Interest on capital is to be allowed at 5% per 
annum. 5% interest is to be charged on drawings. During 
the year, Kavitha withdrew Rs. 12,000 and Sumathy  
Rs. 24,000, interest being Kavitha Rs. 280 and sumathy 
Rs. 200. Profit in 1991 before the above noted adjustment 
was Rs. 42,320. Show the distribution of profits between 
the partners and prepare capital accounts (a) When they 
are fluctuating and (b) When they are fixed. 

 áÚÁ› 1, 1991, AßÖ PÂuõ ©ØÖ® _©v Tmhõsø© 

ö\´x öPõsk ¹. 80,000 ©ØÖ® ¹. 60,000 •øÓ÷¯ 

•u½k ö\´uÚº. AÁºPÒ 3:2 GßÓ ÂQuzvÀ C»õ£ 

|mhzøu £Qº¢x öPõÒQÓõºPÒ. _©vUS ¹. 16,000 
BskUS \®£Í® ÁÇ[P ÷Ásk®. •uÀ «uõÚ Ámi 

BskUS 5% AÝ©vUP¨£h ÷Ásk®. A¢u BsiÀ 

PÂuõ ¹. 12,000 ©ØÖ® _©v ¹. 24,000, Gk¨¦ GkzuÚº. 

Auß «uõÚ Ámi 5% PÂuõÂØUS ¹. 280 ©ØÖ® _©vUS 

¹. 200 PnUQh¨£mhx. ÷©÷» SÔ¨¤h¨£mh 

\›PmkuÀPÒ ö\´ÁuØUS •ß 1991À C»õ£® ¹. 42,320.  

 TmhõÎPÐUS Cøh÷¯¯õÚ C»õ£ £QºÂøÚ Põmi 
•uÀ PnUQøÚ (A) TmhõÎPÎß •uÀ ©õÖ£k® •uÀ 
Ai¨£øh°¾® (B) TmhõÎPÎß •uÀ {ø»¯õÚ •uÀ 

Ai¨£øh°À PnUQkP. 
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17. Ramu and Gopu are partner sharing profits in the ratio of 
2:1. Following is the Balance Sheet of the firm as on 
31.3.2011 

Liability Rs. Assets Rs. 

Wages due 5,000  

Sundry creditors 48,000 Cash in hand 22,000

Capital a/c  Cash at bank 2,000

Ramu 60,000 Debtors 30,000

Gopu 35,000 Less: 2,000

  Provision 28,000

  Bills 

  Receivable 12,000

  Stock 18,000

  Investment 12,000

  Furniture 4,000

  Building 50,000

 1,48,000  1,48,000

 On 1.4.2011 Somu was admitted as a partner. Somu 
brings in Rs. 25,000 as capital for 1/4th share in profits. 

 (a) Provision for doubtful debts be increased to  
Rs. 3,500 

 (b) Furniture be reduced to Rs. 3,500 

 (c) Buildings be increased by Rs. 10,000 

 (d) An investment of Rs. 1,500 not recorded in the 
books, now brought into account. 

 (e) A contingent liability of Rs. 800 has become a 
certain liability. It has been agreed among the 
partners that assets and liabilities are to be shown 
at old values. 

 Prepare memorandum revaluation  A/c and new balance 
sheet after admission. 
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 μõ• ©ØÖ® ÷Põ¦ GßÓ TmhõÎPÒ 2:1GßÓ ÂQuzvÀ 
C»õ£zøu £Qº¢x öPõÒQßÓÚº. 31.3.2011 AßÖ 
{ÖÁÚzvß C¸®¦ {ø»U  SÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 
öPõk£h ÷Ási¯  øP°¸¨¦  

T¼ 5,000 öμõUP® 22,000
£Ø£» PhÜ¢÷uõº 48,000 Á[Q°¸¨¦  

•uÀ PnUS:  öμõUP® 2,000
μõ• 60,000 PhÚõÎPÒ 30,000
÷Põ¦ 35,000 (–)JxUS: 2,000 28,000

  ö£ÖÁuØP›¯ 

  ©õØÖa^mk 12,000
  C¸¨¦ 18,000
  •u½k 12,000
  AøÓP»ß 4,000
  Pmih® 50,000
 1,48,000  1,48,000

 1.4.2011 AßÖ ÷\õ• Gß£Áº ¦v¯ TmhõÎ¯õP  
AÝ©vUP¨£mhõº. ÷\õ• ¹. 25,000 •uÀ öPõsk Áμ 
GvºPõ» C»õ£zvß 1/4 £[S. 

 (A) ÁõμõIUPhß JxUS ¹. 3,500 AvP›UP¨£mhx. 

 (B) AøÓP»ß ©v¨¦ ¹. 3,500 SøÓUP¨£mhx. 

 (C) Pmih ©v¨¦ ¹. 10,000 AvP›UP¨£mhx. 

 (D) •u½k ¹. 1,500 HkPÎÀ £vÄ ö\´¯¨£hÂÀø» 
C¨÷£õx PnUQÀ öPõsk Áμ¨£mkÒÍx. 

 (E) uØö\¯»õÚ ö£õÖ¨¦ ¹. 800 SÔ¨¤mh ö£õÖ¨¦ 
BQÂmhx. 

 ö\õzxPÒ ©ØÖ® ö£õÖ¨¦PÒ £øÇ¯ ©v¨¦PÎÀ 
Põmh¨£h ÷Ásk® GßÖ TmhõÎPÐUS Cøh÷¯ 
J¨¦UöPõÒÍ¨£mkÒÍx. {øÚÄU SÔ¨¦ ©Ö ©v¨¥mk 
PnUS ©ØÖ® ¦v¯ TmhõÎ ÷\º¨¤ØUS ¤ß ¦v¯ 
Tmhõsø©°ß C¸¨¦ {ø»U SÔ¨ø£ u¯õ›UP. 
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18. A, B and C are partners sharing profits and losses in the 
ratio of 2:2:1. On 1st January 2008, they took out a joint 
life policy of Rs.2,00,000. Annual premium of Rs. 10,000 
was payable on 1st  January each year. Last premium was 
paid on 1st January 2011. B died on 1st March 2011, and 
policy money was received on 31st March 2011. The 
surrender value of policy as on 31st December each year 
were as follows: 

 2008 – Nil; 2009 – Rs.2,000; 2010 – 5,000 Show necessary 
accounts as on 31st December each year assuming that: 

 (a) The premium is charged to profit and loss account 
every year. 

 (b) The premium is debited to joint life policy account 
and the balanced of the joint life policy account is 
adjusted every year to its surrender value. 

 A, B ©ØÖ® C TmhõÎPÒ 2:2:1. GßÓ ÂQuzvÀ C»õ£ 
|mhzøu £Q›¢x öPõÒQßÓÚº. áÚÁ› 1, 2008, AßÖ 
AÁºPÒ ¹.2,00,000 ©v¨¦øh¯ Tmk ÁõÌUøP 
öPõÒøPø¯ GkzuÚº. JÆöÁõ¸ Bsk® áÚÁº 1, 
AßÖ ¹. 10,000 Bsk •øÚ©® ö\¾zu ÷Ásk®. 
áÚÁ› 1, 2011 AßÖ Pøh] •øÚ©® ö\¾zu¨£mhx. 
©õºa  1, 2011 AßÖ B CÓ¢uõº. ÷©¾® •øÚ© Põ¨¥mkz 
öuõøP 31, ©õºa 2011 AßÖ ö£Ó¨£mhx. 31 i\®£º 
JÆöÁõ¸ Bsk® Põ¨¥mk J¨£øh¨¦ ©v¨¦ 
¤ßÁ¸©õÖ: 

 2008 – CÀø»; 2009 – ¹.2,000; 2010 – ¹. 5,000 31 
i\®£º JÆöÁõ¸ Bsk® ÷uøÁ¯õÚ PnUSPøÍU 
PõmkP: 

 (A) Põ¨¥mkz öuõøP JÆöÁõ¸ Bsk® C»õ£ |mh 
PnUQÀ Á`¼UP¨£kQÓx. 

 (B) Põ¨¥mkz öuõøP Tmk B²Ò Põ¨¥mk PnUQÀ 
£ØÖ øÁUP¨£kQÓx ©ØÖ® Tmk B²Ò Põ¨¥mk 
PnUQß \©{ø» JÆöÁõ¸ Bsk® Auß 
J¨£øh¨¦ ©v¨¤ØUS \›ö\´¯¨£kQÓx. 
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19. P, Q and R share profits in proportion of ½, ¼ and ¼. On 
the date of dissolution their Balance Sheet was as follows:  

Liabilities Rs. Assets Rs. 

Creditors 14,000 Sundry Assets 40,000

Ps Capital 10,000  

Q’s Capital 10,000  

R’s Capital 6,000  

 40,000  40,000

 The assets realized Rs. 35,500. Creditors were paid in 
full. Realisation expenses amounted to Rs. 1,500. Close 
the books of the firm. 

 P, Q ©ØÖ® R ½, ¼ ©ØÖ® ¼. GßÓ ÂQuzvÀ C»õ£zøu 
£Q›¢x öPõÒQßÓÚº. {ÖÁÚ® Pø»UP¨£mh ÷uv°À 

AÁºPÎß C¸¨¦{ø» SÔ¨¦ ¤ßÁ¸©õÖ: 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

PhÜ¢÷uõº 14,000 £Ø£»  

P ß •uÀ 10,000 ö\õzxPÒ 40,000

Q ß •uÀ 10,000  

R ß •uÀ 6,000  

 40,000  40,000

 ö\õzxUPÎß wºøÁ ©v¨¦ ¹. 35,500. PhÜ¢÷uõ¸US 
ö\¾zu ÷Ási¯x •ÊÁx® ö\¾zu¨£mhx. 

wºøÁUPõÚ ö\»ÄPÒ ¹ 1,500. {ÖÁÚzvß PnUSPøÍ 

•iUP. 
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20. Red, White and Blue are in partnership. The following is 
their Balance Sheet as at 31.12.85 on which date, they 
dissolved partnership. They share profits in the ratio of 
5:3:2  

Liabilities Rs. Assets Rs. 

Red 50,000 Premises 40,000

White 15,000 Plant 30,000

Blue 45,000 Stock 30,000

Creditors 40,000 Debtors 60,000

Red’s loan 10,000  

 1,60,000  1,60,000

 It was agreed to repay the amounts due to the partners 
as and when the assets were realised, viz: 

 Rs. 

1.2.86 30,000 

1.4.86 73,000 

1.6.86 47,000 

 Prepare a statement showing how the distribution to the 
partners should be made. 

 ]Á¨¦, öÁÒøÍ ©ØÖ® }»® BQ÷¯õº Tmhõsø©°À 
EÒÍÚº. 31.12.85 AßÖ Tmhõsø© Pø»UP¨£mk 
AßøÓ¯ C¸¨¦ {ø»U SÔ¨¦ ¤ßÁ¸©õÖ. AÁºPÒ 
C»õ£zøu 5:3:2 GßÓ ÂQuzvÀ £Qº¢x öPõÒQßÓÚº. 

ö£õÖ¨¦PÒ ¹. ö\õzxPÒ ¹. 

]Á¨¦ 50,000 ÁÍõP® 40,000
öÁÒøÍ 15,000 ö£õÔ 30,000
}»® 45,000 C¸¨¦ 30,000
PhÜ¢÷uõº 40,000 PhÚõÎPÒ 60,000
]Á¨¤ß Phß 10,000  

 1,60,000  1,60,000
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 TmhõÎPÐUS ö\¾zu ÷Ási¯ öuõøPPøÍ v¸¨¤a 
ö\¾zu J¨¦UöPõÒÍ¨£mhx AuõÁx ö\õzxPÒ 
wºUP¨£mhx: 

 ¹. 

1.2.86 30,000 

1.4.86 73,000 

1.6.86 47,000 

 TmhõÎPÐUS Cøh÷¯¯õÚ £QºÄ GÆÁõÖ C¸UP 
÷Ásk® Gß£øu Põmk® AÔUøPø¯ u¯õ›UP. 

  

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define - ‘statistics’. 

 ‘¦ÒÎ°¯À’ & Áøμ¯Ö. 

2. What is tabulation? 

 AmhÁøn GßÓõÀ GßÚ? 

3. Give the meaning of median. 

 ø©¯¨¦ÒÎ Gß£uß ö£õ¸Ò u¸P. 

4. Point out the meaning of standard deviation. 

 vmhÂ»UP® Gß£uß ö£õ¸Ò u¸P. 

5. What is Rank correlation? 

 uμÁ›ø\ JmkÓÄ GßÓõÀ GßÚ? 

6. Define - ‘Regression’. 

 ‘öuõhº¦ ÷£õUS’ & Áøμ¯Ö. 

Sub. Code 
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7. What is index number? 

 SÔ±mk Gs GßÓõÀ GßÚ? 

8. Give the meaning of chain index number. 

 \[Q¼ uÍ SÔ±k Gß£uß ö£õ¸Ò u¸P. 

9. What is meant by moving average? 

 |P¸® \μõ\› GßÓõÀ GßÚ? 

10. What is least squares? 

 SøÓ¢u£ma\ \xμ •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) State the various limitations of statistics. 

  ¦ÒÎ°¯¼ß £À÷ÁÖ Áμ®¦PøÍ u¸P. 

Or 

 (b) Explain the various methods of collecting primary 
data. 

  •uÀ {ø» uμÄPøÍ ö£ÖÁuØUPõÚ £À÷ÁÖ 
•øÓPøÍ ÂÍUSP. 

12. (a) Briefly explain the methods of studying variation. 

  ©õÖ£õmøh £ØÔ £iUS® £À÷ÁÖ •øÓPøÍ 
_¸UP©õP ÂÍUSP. 

Or 
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 (b) From the following data compute Arithmetic mean 
Marks 0-10 10-20 20-30 30-40 40-50 50-60

No of students 5 10 25 30 20 10 

  ¤ßÁ¸® ÂÁμ[PÎß Ai¨£øh°À Tmk \μõ\› 
PnUQkP 

©v¨ö£s 0-10 10-20 20-30

©õnÁºPÎß GsoUøP 5 10 25 

©v¨ö£s 30-40 40-50 50-60

©õnÁºPÎß GsoUøP 30 20 10 

13. (a) State the various types of correlation. 

  JmkÓÂß £À÷ÁÖ ÁøPPøÍ u¸P.  

Or 

 (b) In a correlation study the following values are 
obtained: 

 X Y 

Mean 65 67

Standard deviation 2.5 3.5

Co-efficient of correlation 0.8 

  Find the two regression equations that are 
associated with the above values. 

  J¸ JmkÓÄ PnURmk ö\´uvÀ Qøhzu 
©v¨¥kPÒ ¤ßÁ¸©õÖ 

 X Y 

\μõ\› 65 67

vmh Â»UP® 2.5 3.5

JmkÓÄ Tmk ö\¯ÀvÓß 0.8 

  ÷©÷» EÒÍ ©v¨¦PÐhß öuõhº¦øh¯ öuõhº¦ 
÷£õUQß Cμsk \©ß£õkPøÍ PshÔP. 
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14. (a) Explain the uses of Index numbers. 

  SÔ±mk GsPÎß £¯ß£õkPøÍ ÂÍUSP. 

Or 

 (b) From the chain base index numbers given below, 
prepare fixed base index numbers 

2005 2006 2007 2008 2009

80 110 120 90 140 

  R÷Ç öPõkUP¨£mkÒÍ \[Q¼ Ai¨£øh SÔ±mk 
GsPÎÀ C¸¢x, {ø»¯õÚ Ai¨£øh SÔ±mk 
GsPøÍ u¯õ›UP. 

2005 2006 2007 2008 2009

80 110 120 90 140 

15. (a) State the components of time series. 

  Põ»®\õº Á›ø\°ß TÖPøÍz u¸P. 

Or 

 (b) Calculate seasonal indices by the ratio to moving 
average method from the following data 

Quarter what prices (in rupees per quintal)
 Year 2014 2015 2016 2017
I  75 86 90 100 
II  60 65 72 78 
III  54 63 66 72 
IV  59 80 85 93 

  ¤ßÁ¸® uμÄPÎÀ C¸¢x |P¸® \μõ\› •øÓ°ß 
ÂQuzvß ‰»® £¸ÁPõ» SÔ±miøÚ PnUQkP 

GßÚ Âø» (¹£õ´, J¸ SÂshõÀ) 
Põ»õsk Bsk 2014 2015 2016 2017

I  75 86 90 100 
II  60 65 72 78 
III  54 63 66 72 
IV  59 80 85 93 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the various methods of data collection. 

 uμÄ ÷\P›¨¤ß £À÷ÁÖ •øÓPøÍ ÂÁ›UP. 

17. Calculate arithmetic mean, median and mode from the 
following frequency distribution 

Variable 10-13 13-16 16-19 19-22 22-25

Frequency 8 15 27 51 75 

Variable 25-28 28-31 31-34 34-37 37-40

Frequency 54 36 18 9 7 

 ¤ßÁ¸® AvºöÁs Â{÷¯õPzvÀ C¸¢x Tmk \μõ\›, 
Cøh{ø» ©ØÖ® •Pk BQ¯ÁØøÓ PnUQkP. 

©õÔ 10-13 13-16 16-19 19-22 22-25

AvºöÁs 8 15 27 51 75 

©õÔ 25-28 28-31 31-34 34-37 37-40

AvºöÁs 54 36 18 9 7 

18. From the following data obtain the two regression 
equations 

X 6 2 10 4 8

Y 9 11 5 8 7

 ¤ßÁ¸® uμÄPÎÀ C¸¢x Cμsk öuõhº¦¨÷£õUS 
÷Põk \©ß£õmiøÚ PshÔP. 

X 6 2 10 4 8

Y 9 11 5 8 7

19. Explain the problems in construction of Index numbers. 

 SÔ±mh GsPÒ E¸ÁõUPzvÀ HØ£k® £À÷ÁÖ 
¤μa\øÚPøÍ ÂÍUSP. 
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20. Find the seasonal variations by the ratio-to-trend method 
from the data given below 

Year Quarter I Quarter II Quarter III Quarter IV

2010 39 20 60 85 

2011 45 23 62 90 

2012 44 25 69 92 

2013 53 30 70 97 

2014 60 32 76 100 

 R÷Ç öPõkUP¨£mkÒÍ uμÄPÎÀ C¸¢x ÂQuzv¼¸¢x 
÷£õUS•øÓ ‰»® £¸ÁPõ» ©õÖ£õkPøÍ PshÔP 

Bsk Põ»õsk I Põ»õsk II Põ»õsk III Põ»õsk IV

2010 39 20 60 85 

2011 45 23 62 90 

2012 44 25 69 92 

2013 53 30 70 97 

2014 60 32 76 100 

—————— 
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Allied – OFFICE MANAGEMENT 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is Office Management? 

 A¾Á»P ÷©»õsø© GßÓõÀ GßÚ? 

2. What are the basic requirements for good dictation? 

 |À» Bøn°ku¼ß Ai¨£øhz ÷uøÁPÒ GßÚ? 

3. What is man power standard? 

 ©Ûu \Uv uμ{ø» GßÓõÀ GßÚ? 

4. State the meaning of functional manager. 

 ö\¯À£õmk ÷©»õÍ›ß ö£õ¸øÍU SÔ¨¤kP. 

5. What do you mean by office environment? 

 A¾Á»P `ÇÀ GßÓõÀ GßÚ? 

6. What are the causes of eye strain? 

 Ps ÷\õºÄUPõÚ Põμn[PÒ GßÚ? 

7. Why are records important for an office? 

 A¾Á»PzvØS £vÄPÒ Hß •UQ¯®? 
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8. Define System. 

 ]ìhzøu Áøμ¯ÖUPÄ®. 

9. What are the objects of introducing office machines? 

 A¾Á»P C¯¢vμ[PøÍ AÔ•P¨£kzx® ö£õ¸ÒPÒ 
¯õøÁ? 

10. What is Internet? 

 Cøn¯® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions. 

11. (a) List out the advantages of word processing system 
to offices. 

  A¾Á»P ö\õÀ ö\¯»õUP •øÓ°ß |ßø©PøÍ 
£mi¯¼kP. 

Or 

 (b) How is outgoing mail handled in an office? 

  öÁÎaö\À¾® Ag\À A¾Á»PzvÀ GÆÁõÖ 
øP¯õÍ¨£kQÓx? 

12. (a) What are the supervisory duties of an office 
manager? 

  A¾Á»P ÷©»õÍ›ß ÷©Ø£õºøÁU Phø©PÒ GßÚ? 

Or 

 (b) Outline the objectives of administrative office 
management? 

  {ºÁõP A¾Á»P {ºÁõPzvß ÷|õUP[PøÍ 
÷PõimkU PõmkP. 
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13. (a) What benefits does good office lighting produce? 

  A¾Á»P ÂÍUSPÒ GßÚ |ßø©PøÍ 
E¸ÁõUSQßÓÚ? 

Or 

 (b) Explain an organisational chart? Why is it used? 

  {ÖÁÚ ÂÍUP¨£hzøu ÂÍUPÄ®? Ax Hß 
£¯ß£kzu¨£kQÓx? 

14. (a) What are the features of a good system? 

  J¸ |À» Aø©¨¤ß A®\[PÒ GßÚ? 

Or 

 (b) Bring out the qualities required of an office manual. 

  A¾Á»P øP÷¯miÀ ÷uøÁ¯õÚ Sn[PøÍ 
GÊxP. 

15.  (a) What are the steps to be taken in electronic data 

processing? 

  ªßÚq uμÄ ö\¯»õUPzvÀ GkUP ÷Ási¯ 

|hÁiUøPPÒ GßÚ? 

Or 

 (b) Write a note on: 

  (i) PBX and 

  (ii) Diazo 

  ]Ö SÔ¨¦ GÊxP: 

  (i) PBX and 

  (ii) Diazo 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the importance of office management. 

 A¾Á»P {ºÁõPzvß •UQ¯zxÁzøu ÂÁ›. 

17. Discuss the various kinds of leadership qualities. 

 £À÷ÁÖ ÁøP¯õÚ uø»ø©zxÁ Sn[PøÍ¨ £ØÔ 
ÂÁõv. 

18. Explain the guidelines to be followed in organising an 
office. 

 A¾Á»Pzøu JÊ[Pø©¨£vÀ ¤ß£ØÓ ÷Ási¯ 
ÁÈPõmkuÀPøÍ ÂÍUSP. 

19. Enumerate types of office manuals. 

 A¾Á»P øP÷¯kPÎß ÁøPPøÍU PnUQk[P. 

20. Discuss in detail the merits and demerits of 
mechanisation and automation of offices. 

 A¾Á»P[PÎß C¯¢vμ©¯©õUPÀ ©ØÖ® 
ußÛ¯UP©¯©õUP¼ß |ßø©PÒ ©ØÖ® wø©PÒ £ØÔ 
Â›ÁõP ÂÁõv. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define ‘Marketing’. 

 ‘\¢øu°¯À’ Áøμ¯Ö. 

2. What is ‘Marketing mix’? 

 ‘\¢øu°¯À P»øÁ’ GßÓõÀ GßÚ? 

3. Define ‘Product’. 

 ‘ö£õ¸Ò’ Áøμ¯Ö. 

4. What do you mean by ‘Brand’? 

 ‘ÁoPUSÔ±k’ GßÓõÀ GßÚ? 

5. Give the meaning of ‘Risk bearing’. 

 ‘Chº HØÓÀ’ Gß£uß ö£õ¸Ò u¸P. 

6. What is meant by ‘Grading’? 

 ‘uSv°hÀ’ GßÓõÀ GßÚ? 
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7. Define ‘Pricing’. 

 ‘Âø»°hÀ’ Áøμ¯Ö. 

8. Explain ‘Dual pricing’. 

 ‘Cμmøh Âø»°hÀ’ ÂÍUSP. 

9. Define ‘Advertisement’. 

 ‘ÂÍ®£μ®’ Áøμ¯Ö. 

10. What is meant by ‘Promotional policy’? 

 ‘÷©®£õmk öPõÒøP’ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Indicate the objectives of Marketing. 
  \¢øu°¯¼ß ÷|õUP[PøÍ SÔ¨¤kP. 

Or 

 (b) State the criteria for market segmentation. 
  \¢øu £S¨£õ´ÂØPõÚ AÍÄ÷PõÀPøÍ TÖP. 

12. (a) What are the functions of packaging?  
  Pmk©zvß £oPÒ ¯õøÁ? 

Or 

 (b) Mention the classification of consumer goods.  
  ~Pº÷Áõº ö£õ¸mPÎß ÁøPPøÍ SÔ¨¤kP. 

13. (a) Point out the importance of warehousing. 
  £shP\õø»°ß •UQ¯zxÁzøuU SÔ¨¤kP. 

Or 

 (b) Write a note on ‘Standardization’. 

  ‘uμ¨£kzxuÀ’ £ØÔ SÔ¨¦ ÁøμP. 
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14. (a) What are pricing strategies? 

  Âø»°h¼ß ²UvPÒ ¯õøÁ? 

Or 

 (b) State the objectives of pricing. 

  Âø»°h¼ß ÷|õUP[PøÍ TÖP. 

15.  (a) Mention the advantages of advertising. 

  ÂÍ®£μzvÚõÀ HØ£k® |ßø©PøÍ SÔ¨¤kP. 

Or 

 (b) Indicate the techniques of sales promotion. 

  ÂØ£øÚ ÷©®£õmk ~m£[PøÍ SÔ¨¤kP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the functions of marketing. 

 \¢øu°¯¼ß £oPøÍ ÂÁ›. 

17. List out the stages in product life cycle. 

 ö£õ¸Ò ÁõÌUøP _ÇØ]°À EÒÍ £i{ø»PøÍ 
£mi¯¼kP. 

18. Explain the various modes of transportation. 

 ÷£õUSÁμzvß £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

19. Describe the different methods of pricing. 

 Âø»°h¼ß £Ø£» •øÓPøÍ ÂÁ›. 

20. What are the qualities of a good salesman? 

 J¸ ]Ó¢u ÂØ£øÚ¯õÍ›ß uSvPÒ ¯õøÁ? 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Compound Interest. 

 Tmk Ámi Áøμ¯ÖUP. 

2. Write short note on Discounting of bills. 

 μ^xPøÍ uÒÐ£i ö\´Áx £ØÔ¯ ]Ö SÔ¨ø£ GÊxP. 

3. What is meant by logarithm? 

 ©hUøP GßÓõÀ GßÚ? 

4. Mention the rules of Logarithm. 

 ©hUøP°ß ÂvPøÍU SÔ¨¤kP. 

5. What is Empty Set or Null Set? 

 öÁØÖUPn® AÀ»x öÁÖø©UPn® GßÓõÀ GßÚ? 

6. What is Intersection of Two Sets? 

 Pn[PÎÀ öÁmk GßÓõÀ GßÚ? 
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7. State the three types of probability. 

 {PÌuPÂß ‰ßÖ ÁøPPøÍU SÔ¨¤kP. 

8. What do you mean by Expected value? 

 Gvº£õºzuÀ ©v¨¦ GßÓõÀ GßÚ? 

9. What is Poisson distribution in simple words?  

 GÎ¯ ÁõºzøuPÎÀ £õ´\õß £μÁÀ GßÓõÀ GßÚ? 

10. Define Normal distribution. 

 Áøμ¯Ö : C¯À{ø»¨ £μÁÀ. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Find the simple interest on Rs.5,000 at 10% for  
3 years. Find the amount also. 

  ¹.5,000&UPõÚ 3 BskPÐUS 10% Ãu® GÛÀ uÛ 
Ámiø¯ PnUQkP. 

Or 

 (b) Find the amount of an annuity of Rs.2,00,000 per 
annum for 10 years reckoning compound interest at 
10% per annum. 

  BskUS ¹.2,00,000 GÛÀ 10 BskPÐUS 10% 
Ãu® Tmk Ámiø¯ PnUQkP. 

12. (a) Show that 2log23125log 1010 −= . 

  2log23125log 1010 −=  GßÖ PõmkP. 

Or 

 (b) Find the number of digits in 1525 72 × . 

  1525 72 × CÀ EÒÍ C»UP[PÎß GsoUøPø¯U 
PshÔP. 
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13. (a) Represent the following sets in set builder form. 

  (i) B = The set of all Cricket players in India who 
scored double centuries in One Day 
Internationals. 

  (ii) { },...,,C 4
3

3
2

2
1=   

  (iii) D = The set of all tamil months in a year. 

  (iv) E = The set of odd Whole numbers less than 9. 

  ¤ßÁ¸® Pn[PøÍU PnU Pmhø©¨¦ •øÓ°À 
GÊxP. 

  (i) B = J¸ |õÒ Bmh[PÎÀ Cμmøha \u©izu 
C¢v¯ ©møh¨ £¢x ÃμºPÎß öuõS¨¦ 

  (ii) { },...,,C 4
3

3
2

2
1=   

  (iii) D = Kº BsiÀ EÒÍ uªÌ ©õu[PÎß 

öuõS¨¦. 

  (iv) E = 9 CUS® SøÓÁõÚ JØøÓ •Ê GsPÎß 

Pn®. 

Or 

 (b) (i) Write all the subsets of },{ baA =  

  (ii) Find the number of subsets and the number of 
proper subsets of a set },,,,,{ zyxcbaX = . 

  (i) },{ baA =  GßÓ Pnzvß EmPn[PøÍ 

GÊxP. 

  (ii) },,,,,{ zyxcbaX =  GßÓ Pnzvß 

EmPn[PÎß GsoUøPø¯²®, uS 

EmPn[PÎß GsoUøPø¯²® PõsP. 
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14. (a) The number of cars in a household is given below. 

No. of cars 0 1 2 3 4 

No. of Household 30 320 380 190 80 

  Estimate the probability mass function. Verify 
)( iXp  is a probability mass function.  

  ]» Sk®£[PÎÀ EÒÍ ©QÊ¢xPÎß GsoUøP 
R÷Ç öPõkUP¨£mkÒÍÚ. 

©QÊ¢xPÎß GsoUøP 0 1 2 3 4

Sk®£[PÎß GsoUøP 30 320 380 190 80

  CÆ ÂÁμ[PøÍU öPõsk {PÌuPÄ {øÓ \õºø£ 

©v¨¤kP. ÷©¾® )( iXp  J¸ {PÌuPÄ {øÓ \õº¦ 

Gß£øu²® \›£õºUP. 

Or 

 (b) List out the Properties of Mathematical expectation. 

  PnUQ¯À Gvº£õºzu¼ß £s¦PøÍ £mi¯¼kP. 

15. (a) Verify the following statement: The mean of a 
Binomial distribution is 12 and its standard 
deviation is 4. 

  Kº D¸Ö¨¦¨ £μÁ¼ß \μõ\› 12 AuÝøh¯ 
vmhÂ»UP® 4 GÝ® TØÔøÚ¨ £ØÔ Eß P¸zøuz 
u¸P. 

Or 

 (b) In a poisson distribution for the first probability 
term is 0.2725. find the next probability term. 

  £õ´\õß £μÁ¼ß •uÀ {PÌuPÄ ©v¨¦ 0.2725 
GÛÀ AuØS Akzu {PÌuPÄ ©v¨¤øÚU PõsP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A bill of Rs.3,225 was drawn on 3rd February 2022 at  

6 months due date and discounted on 13th March 2022 at 

the rate of 8% per annum. For what sum was the bill 

discounted and how much did the banker gain in this? 

 ¤À ¹.3,225 ¤¨μÁ› 3, 2022 AßÖ 6 ©õu {¾øÁz 

÷uv°À GkUP¨£mhx. ÷©¾® BskUS 8% Ãu®  

13 ©õºa 2022 uÒÐ£i ö\´¯¨£mkÒÍx. G¢uz 

öuõøPUS ¤À uÒÐ£i ö\´¯¨£mhx ©ØÖ® 

Á[Q¯õÍ¸US CvÀ GÆÁÍÄ »õ£® QøhzxÒÍx 

Gß£øu Psk¤iUP. 

17. Find the value of antilog 

 2)56.2(16
)3223.0(73.6 2

1

−
×

 

 Gvº AkUS ‰»zvß ©v¨ø£U PshÔP 

 2)56.2(16
)3223.0(73.6 2

1

−
×

 

18. If }5,3,0,2,3{},3,1,2,5{ −−=−−= BA  and 

)5,4,0,1,2( −−=C . Then verify De Morgan’s Laws for a 

set difference. 

 }5,3,0,2,3{},3,1,2,5{ −−=−−= BA  ©ØÖ® 

)5,4,0,1,2( −−=C  Gß£øu i ÷©õºPÛß \mh 

÷ÁÖ£õmiøÚ öPõsk \›£õºUP. 
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19. Three coins are tossed simultaneously. Consider the 
events A ‘three heads or three tails’, B ‘atleast two heads’ 
and C ‘at most two heads’ of the pairs (A,B), (A,C) and 
(B,C), which are independent? Which are dependent? 

 ‰ßÖ |õn¯[PÒ J÷μ ÷|μzvÀ _sh¨£kQßÓÚ. 

 A - {PÌÄ “‰ßÖ uø»PÒ AÀ»x ‰ßÖ §UPÒ”  

 B - {PÌÄ “SøÓ¢u£m\® 2 uø»PÒ” 

 C - {PÌÄ “AvP£m\® 2 uø»PÒ” 

 GßÓ P¸uÄ® (A,B), (A,C) ©ØÖ® (B,C), BQ¯ÁØÔÀ 
GøÁ \õμõ {PÌÄPÒ? GøÁ \õº¢u {PÌÄPÒ ? 

20. What is the probability that a standard normal variate Z 
will be 

 (a) greater than 1.09 

 (b) less than –1.65 

 (c) lying between –1.00 and 1.96 

 (d) lying between 1.25 and 2.75 

 RÌUPõq® C¯À{ø» ©õÔ°ß {PÌuPÂøÚU PõsP 

 (A) Z = 1.09US Á»¨¦Ó® Aø©²® £μ¨¦ PõsP. 

 (B) Z = –1.65US Ch¨¦Ó® Aø©²® £μ¨ø£U PõsP. 

 (C) vmh C¯À{ø» ©õÔ°ß ©v¨¦ Z = –1.00 ©ØÖ®  
Z = 1.96US Cøh¨£mh £μ¨ø£U PõsP. 

 (D) vmh C¯À{ø» ©õÔ°ß ©v¨¦ Z = 1.25 ©ØÖ®  
Z = 2.75US Cøh¨£mh £μ¨ø£U PõsP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Why do need Insurance? 

 Hß Põ¨¥k ö\´¯ ÷Ásk®? 

2. What is Premium? 

 ¤Ÿª¯® GßÓõÀ GßÚ? 

3. What is Annuity? 

 Á¸hõ¢vμ AmhÁøn GßÓõÀ GßÚ? 

4. What is meant by Surrender Value? 

 \μshº ©v¨¦ GßÓõÀ GßÚ? 

5. Give the meaning of War Risk. 

 ÷£õº A£õ¯® Gß£uØS¨ ö£õ¸Ò u¸P. 

6. What is Life Policy? 

 B²Ò Põ¨¥mkÖv GßÓõÀ GßÚ? 

7. Bring out the meaning for “Days of Grace”. 

 “P¸øn°ß |õmPÒ” Gß£uß Aºzuzøu TÖ. 
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8. What is Ante Dating? 

 £õ¼]°ß Põ» uõ©uzøuU SÔ¨¤hÄ®. 

9. Define Marine Insurance. 

 PhÀ Põ¨¥møh Áøμ¯ÖUPÄ®. 

10. What do you mean by Salvage Charges? 

 Põ¨¦ Pmhn® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Explain the merits of Insurance. 

  Põ¨¥miß ]Ó¨¦PøÍ ÂÍUSP. 

Or 

 (b) Enumerate the limitations of Risk Management. 

  Chº ÷©»õsø© Áμ®¦PøÍ £mi¯¼hÄ®. 

12. (a) Discuss the Scientific Principles of Life Insurance. 

  B²Ò Põ¨¥miß AÔÂ¯À ÷Põm£õkPøÍ¨ £ØÔ 
ÂÁõv. 

Or 

 (b) Explain the various types of Mortality Table. 

  £À÷ÁÖ ÁøP¯õÚ CÓ¨¦ AmhÁønø¯ ÂÍUSP. 

13. (a) How to write a Proposal in Life Policy? 

  B²Ò Põ¨¥mkÖv •ßö©õÈøÁ GÊxP. 

Or 

 (b) Mention the contents available in Medical 
Examination in Life Policy. 

  B²Ò Põ¨¥mkÖv°À ©¸zxÁ £›÷\õuøÚ°À 
QøhUS® EÒÍhUP[PøÍU SÔ¨¤kP. 
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14. (a) Justify the progress of Life business of LIC. 

  LIC °ß ÁõÌUøP ÁoPzvß •ß÷ÚØÓzøu 
{¯õ¯¨£kzx. 

Or 

 (b) How Assignment is differ from Nomination? 
  JxURk £›¢xøμUP¨£mhv¼¸¢x GÆÁõÖ 

÷ÁÖ£kQÓx? 

15.  (a) Discuss the Importance in International Trade. 
  \ºÁ÷u\ ÁºzuPzvÀ •UQ¯zxÁ® £ØÔ ÂÁõv. 

Or 

 (b) Explain the Essential of a Marine Insurance 
Contract. 

  PhÀ Põ¨¥mk J¨£¢uzvß CßÔ¯ø©¯õuøu 
ÂÁ›. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Elaborate the Principles of Insurance. 
 Põ¨¥mkU öPõÒøPPøÍ Â›Ä£kzuÄ®. 

17. Explain the Various types of Annuities. 
 £À÷ÁÖ ÁøP¯õÚ Á¸hõ¢vμ AmhÁøn ÂÍUS. 

18. Draft out the procedures for taking a Life Policy. 
 B²Ò Põ¨¥mkÖv Gk¨£uØPõÚ |øh•øÓPøÍ 

Áøμ¯Ö. 

19. Explain various Life Policy Conditions. 
 B²Ò Põ¨¥mkÖv EÒÍ £À÷ÁÖ {£¢uøÚPøÍ 

ÂÍUSP. 

20. Classify the various kinds of Marine Insurance Policies. 
 £À÷ÁÖ ÁøP¯õÚ PhÀ Põ¨¥kPøÍ ÁøP¨£kzxP. 

———————— 


